Exam Date 26/11/2021
Exam Time : 9:00 AM - 10:30 AM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Study the given pattern carefully and select the number that can replace the question
mark (?)in it.

91213
42 98 ?
39 46 80

Ans X 1.93

X 2.99
X 3.140

o 4.89

Question ID : 65497834961
Status : Answered
Chosen Option : 4

Select the number from among the given options that can replace the question mark
(?) in the following series.

2,4,16, 256, ?

Ans X 1.65336
o 2.65536
< 3.65000
& 4.65500

Question ID : 65497834945
Status : Answered
Chosen Option : 2

Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some kites are flights.
All flights are zeppelins.

Conclusions:
1. Some kites are zeppelins.
2. All zeppelins are flights.

Ans X 1.Both the conclusions follow
& 2. None of the conclusions follow
4” 3. Only conclusion 1 follows

5 4. Only conclusion 2 follows

Question ID : 65497834960
Status : Answered
Chosen Option : 3




Q.4 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Leaves : Chlorophyll :: Blood : ?
Ans 5 1. White blood cells
X 2. Platelets
/< 3.Plasma
" 4. Haemoglobin

Question ID : 65497834965
Status : Answered
Chosen Option : 4

Q.5 Six friends, Prerna, Priyanka, Rahul, Vishal, Tushar and Shruti, are sitting around a
circular table, facing the centre of the table. Priyanka is sitting to the immediate left of
Tushar. Vishal is sitting to the immediate left of Rahul. Prernais second to the right of
Vishal. Prernais sitting between Rahul and Shruti. Who is sitting between Prerna and
Vishal?

Ans X 1.Priyanka
" 2. Rahul
X 3. Shruti
X 4. Tushar

Question ID : 65497834966
Status : Answered
Chosen Option : 2




Q6 Select the option in which the given figure is embedded (rotation is allowed).

Ans
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Question ID : 65497834954
Status : Answered
Chosen Option : 3

Q.7 Inthe following figure, the rectangle represents ‘strong’, the circle represents ‘leather’, the triangle represents ‘bags’,
and the square represents ‘red’.

Select the letter that represents leather bags which are strong but NOT red coloured.

Ans 1. G
¥ 2 M
3. K
4 N
Question ID : 65497834967

Status : Answered
Chosen Option : 2




Q.8 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?
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Question ID : 65497834963
Status : Answered
Chosen Option : 4

Q.9 =i, AT &1 Upatar UTS B 1 GRY, DT $1 3 g1 A iR AgT wgA 71 o,
FRUIPT AT 7, ot P a1 &1 g 81 o s gRy A ar ey 32

Ans X 1 fomar
< 2. ||
X 3.3

o AT B IR
Question ID : 65497834949

Status : Answered
Chosen Option : 4

Q.10 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

s_r_ks__ck_urc_su_c_
Ans X l.c,ucrs, kK
& 2.u,c,u,r1,8kr,k
X 3.cucs, ks k
X 4.ucoukrsrk

Question ID : 65497834956
Status : Answered
Chosen Option : 2




Q.11 A soap costs ¥7 and a pen costs 5. Rajesh spent 38 and purchased both the things.
What was the number of soaps he purchased?

Ans X 1.2
X 25
3.4
X 4.3

Question ID : 65497834962
Status : Answered
Chosen Option : 3

Q.12 Select the option that is related to the third number in the same way as the second
number is related to the first number.

132:501:: 2364 : ?
Ans 4 1.5073
X 2.4582
#< 3.9430
X 4.3474

Question ID : 65497834951
Status : Answered
Chosen Option : 1

Q.13 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

HSI, OLO, VEU, CXA, ?
Ans X 1.KPG
X 2.JPF
X 3.KQF
o 4.JQG

Question ID : 65497834964
Status : Answered
Chosen Option : 4

Q.14 In acertain code language, TRICKY is written as CXLFQH. How will PICNIC be written
in that language?

Ans X 1. YOFOOL
& 2. YOFQOL
< 3.YOEOOL
X 4.YOEQOL

Question ID : 65497834948
Status : Answered
Chosen Option : 2




Q.15 select the figure from among the given options that can replace the question mark (?) in the following series.

Ax=| x=A| =Ax 2
Ans

& 1. = XA

X 2. A=X

3| AX=

X 4 XA=

Question ID : 65497834958
Status : Answered
Chosen Option : 3

Q.16 Select the number from among the given options that can replace the question mark
(?) in the following series.
2,3,4,5,6,7,8,?,10,13,12,17, 14

Ans X 1.9

X212
X 3.10
o 4.11

Question ID : 65497834957
Status : Answered
Chosen Option : 4

Q.17 Select the correct option that indicates the arrangement of the given words in alogical
and meaningful order.

i. Ammonification
ii. Denitrification

iii. Nitrogen fixation
iv. Assimilation

v. Nitrification

Ans o 100, v, v, i

X 2. v, i, i, i, ii
2< 3, v, i, v, i
2 4.y, i, v, i, i

Question ID : 65497834955
Status : Not Answered
Chosen Option : --




Q.18

A box is made by folding the given sheet. In the box so formed, which face will be opposite to the face having . ?

¢]
L 4

Ans

Question ID : 65497834953
Status : Answered
Chosen Option : 1

Q.19 Eight persons are sitting in a circle facing the centre. Arush is sitting opposite to Rita.
There are two persons sitting between Rakesh and Arush. Ankita is sitting towards the
right of Arush and opposite to Urvashi. Anu is sitting between Rita and Urvashi. Ankita
is sitting between Rohan and Rakesh. Aman is sitting towards the left of Rohan. Who
is sitting between Arush and Urvashi?

Ans X 1.Anu
X 2. Ankita
" 3. Aman
/5 4.Rohan

Question ID : 65497834950
Status : Answered
Chosen Option : 3

Q.20 If the signs “+’ and ‘=’ are interchanged and the digits ‘2’ and ‘4’ are interchanged, then
what will be the value of the following expression?

426 + 648 — 312

Ans X 1.124
X 2.224
X 3.424
o 4.244

Question ID : 65497834952
Status : Answered
Chosen Option : 4




Q.21 select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

P
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o

A" x1 0IX8RD

> D3IZ8UD
033849
+P3IX8HAD

Question ID : 65497834946
Status : Answered
Chosen Option : 4

Q.22 In acertain code language, TAPE is written as EPAT and LOVE is written as EVOL.
How will NITIN be written in the same language?

Ans X 1.TINNI
25 2.1TNNI
X 3.INNTI
o 4. NITIN

Question ID : 65497834944
Status : Answered
Chosen Option : 4

Q.23 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

CGRT : DIJWA :: XUKM : ?
Ans X 1.YXQT
< 2. YYPT
o 3. YXPT
X 4.YYQT

Question ID : 65497834947
Status : Answered
Chosen Option : 3

Q.24 In a certain code language, 'the light house' is written as 'zu chi pin’, 'houseis big' is
written as 'mo tim zu', and 'the big garden' is written as 'riz tim pin'. How will 'light' be
written in that language?

Ans o 1.chi
X 2.mo
X 3.riz
< 4. big
Question ID : 65497834959

Status : Answered
Chosen Option : 1




Q.25 Five letters have been given, out of which four are alike in some manner and one is
different. Select the letter that is different.

A,D,I,P,R

Ans X 1.P
X 2.D
o 3.1
K 4R

Question ID : 65497834943
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness

Q1 @ g F1 T Dar v @s & & DS adt a1 @et # ugsh S RS
PR wREMT T aT G FHeE ST |
Ans X 1.3.1fuf= & 9R®T (Commercial banking)
o 2. foqaw sfomn (Investment banking)
X 3. f>afma foak (Corporate finance)

7 4. Pt

=% 1 (Private equity)

Question ID : 65497834974
Status : Answered
Chosen Option : 1

Q2 yrdlg Ryaym a7 frea v & Pew wawl e ame= Riftmaw o S wart o
femR iR ws olaa @ wu g, H A Davemmuosi A a0 taaaa®
fau S aa.rae wsa weyer mar U2

Ans o 1. Rraum [@kar gnes) fifam, 1992
X 2. Ry (@icgar g=iem) Riftmay, 1962
7 3. Fyaum @Tear gneE) Riftmod, 1964
X 4. Ryaum (P @gkar axieq) Rifmay, 1904

Question ID : 65497834977
Status : Not Answered
Chosen Option : --

Q.3 Who among the following is the author of the book ‘Night of the Restless Spirits:
Stories from 1984°?

Ans X 1.Khushwant Singh
«# 2. Sarbpreet Singh
< 3.Vinay Sitapati
#5 4. Chetan Bhagat

Question ID : 65497834972
Status : Answered
Chosen Option : 2




Q.4 Dendron and axon are parts of the:
Ans X 1.excretory system

X 2.digestive system
X 3.muscular system

" 4. nervous system

Question ID : 65497834981
Status : Not Answered
Chosen Option : --

Q.5 In which of the following states is Murlen National Park located?
Ans X 1. Tripura

#< 2.Nagaland
& 3. Mizoram
5 4. Assam

Question ID : 65497834969
Status : Answered
Chosen Option : 4

Q.6 In which year was the first cotton mill at Bombay in India set up as a spinning mill?
Ans X 1.1852

< 2.1853
o 3.1854
< 4.1851

Question ID : 65497834984
Status : Answered
Chosen Option : 2

Q7 PRIR F AR Gv A YRARN A 7 TFaal & UIaAT S & Ig4 A 18751 Ed|
5YTYAT Bt A

Ans X 1. fRsgg i guRE
X 2. S
X 3.3 fisar wEiwwRH
o 4. Bearam

Question ID : 65497834975
Status : Answered
Chosen Option : 3

Q.8 £ ffioraa w A #9 t tw Wiy WeR F1 - adAwar 45t
#2Ans X 1. RyayF Bl ga @

X 2. fferad Raum

o 3. THYGA! foauroaemt

X 4. WBR

Question ID : 65497834989
Status : Answered
Chosen Option : 4




Q.9 Which state does the India’s woman cricketer Smriti Mandhana hail from?
Ans o 1. Maharashtra

X 2. Gujarat
X 3.Bihar
X 4.Goa

Question ID : 65497834968
Status : Answered
Chosen Option : 4

Q.10 Sports Minister Kiren Rijiju has launched which edition of the Fit India School Week in
January 2021?

Ans X 1.4th
& 2.2nd
X 3.6th
X 4.1st
Question ID : 65497834973

Status : Not Answered
Chosen Option : --

TA® THIE

QU 27 PafEaaw ow sfivve yoRIT T @F T T ULITH;
SIS g, S <0 AdgoTad YoTa 78y - T e 2

Ans X 1.TH% O T
X 2.0 §agq A
o 3. 9P YE T TR

X 4. THE IgEaT TR
Question ID : 65497834987
Status : Not Answered
Chosen Option : --
Q12 TX2@ 2022 dF gio=aT d STt B A% T D G HA F Paw s aspornh
fagsar gl

Ans X 1. gTfouy

X 2.3

X 3.dgsi

o 4. 9T

Question ID : 65497834985
Status : Answered
Chosen Option : 2

QB U Srusai®d Prmed fafea weiftmws 1@
ST Har |Arar 852 Ans oF 1. 3131

X 2. Haty

X 3. ®garn

X 4. 9%

Question ID : 65497834983
Status : Answered
Chosen Option : 4




Q.14 In economics, what is the full form of GNP?
Ans X 1. Gross Natural Produce

«# 2. Gross National Product
X 3. Great National Produce

X 4. Gross Natural Product

Question ID : 65497834986
Status : Answered
Chosen Option : 2

Q.15 In which of the following states is Sirohi /Shirui National Park located?
Ans X 1.West Bengal

X 2. Assam
" 3. Manipur
X 4.0disha

Question ID : 65497834971
Status : Answered
Chosen Option : 1

Q.16 Charminar, apopular monument and mosque, is located in:
Ans X 1.Delhi

+" 2. Hyderabad
X 3.Chennai
X 4. Mumbai

Question ID : 65497834979
Status : Answered
Chosen Option : 2

Q.17 YRd W YW Mt & f299< (cow cabinet) @ 54T A P Rma a A Pwsa a1 18
B2Ans X 1. IW3UM

X 23R W

37

X 4.fomer

Question ID : 65497834978
Status : Not Answered
Chosen Option : --

Q.18 In which of the following states is the ‘International Cherry Blossom Festival’
celebrated annually?

Ans X 1.Punjab
< 2.Himachal Pradesh
«" 3. Meghalaya
X 4. Uttarakhand

Question ID : 65497834970
Status : Answered
Chosen Option : 3




Q.19 T8, TR U1 UaqH- T 0 FHOFER SUR-UF: AfgEnaagdi e ik fow
q9:Ts @ U B Yaad-Tdl I Soledt 3:\ |
Ans X' 1. RLNE
o 2.T§
X 3. %0cTH

X 4.3t

Question ID : 65497834991
Status : Answered
Chosen Option : 2

Q20 ™ fggadttagiarR T & x0T asfassrgaluas |
Ans 1. 7 craomht

X 2.3 USeat

X 3. SaTR Ard A8V

X 4. TGS

Question ID : 65497834992
Status : Answered
Chosen Option : 1

Q.21 2020 H ‘A d BR rarar R¥vam 29 Pferea 7 @ Cea aTomm orT sy fowan
TPANS X 1. oA 3R YRS ATTAT

& 2. T™ ATOTAT

X 3. DA AT

X 4. QY AT

Question ID : 65497834990
Status : Answered
Chosen Option : 2

Q.22 Jret (5T T HT WY AT WR F DA A 0Fa U A 2
Ans X 1. 13y

X 2.3@

&3 T

X 4B Bs

Question ID : 65497834980
Status : Answered
Chosen Option : 3

Q.23 YR 9% ATSTH A U-T STHT IO BT O TPl & YW IEA §, g TPhal
T THHATN B UTA-H IR @ A ot & s et i Pgaas &
T DAeraT 31 Johd gl

Ans X 1.5

o 2.15
X 3.20

X 4.10

Question ID : 65497834988
Status : Answered
Chosen Option : 3




Q.24 Who is the author of the book ‘The Rule Breakers’?
Ans X 1. Satyarth Nayak

«# 2. Preeti Shenoy
X 3. Bibek Debroy

X 4. Amitav Ghosh

Question ID : 65497834982
Status : Not Answered
Chosen Option : --

Q.25 Which of the following events was led by Sardar Vallabhbhai Patel?
Ans X 1. Dandi March

«# 2. Bardoli Satyagraha
X 3. Chittagong Armoury Raid

X 4. Kakori Conspiracy

Question ID : 65497834976
Status : Answered
Chosen Option : 2

Section : Part C Elementary Mathematics

Q1 A man walks 600 m in 5 minutes. His speed (in km/h) is:
Ans X 1. 5.6 kmh

2 7.2 km/h

X3 3.8kmh

X4 4.6 kmh

Question ID : 65497835006
Status : Answered
Chosen Option : 2

Q.2 The radii of the bases of a cylinder and a cone are in the ratio of 4 : 3 and their heights are in the ratio of 1 : 2. Find the
ratio of their volumes.

Ans X1 3:8
X2 4:5
«3 8:3
X4 5:4

Question ID : 65497835011
Status : Answered
Chosen Option : 3

Q.3 Inan election between two candidates, 82% of voters cast their votes, out of which 4% were found to be invalid. The

winning candidate got 108240 votes which are 55% of the valid votes. What was the total number of voters who cast
their votes in this election?

Ans X 1. 250000
+ 2. 205000
x3.200500
X 4200000

Question ID : 65497835008
Status : Answered
Chosen Option : 2




Q.4 If T denotes the sum of money, M denotes the number of years, P denotes the rate of interest (interest is compounded
annually), then the compound interest is given by:

Ans L T(L+P/100)M -T
2. T(1+P/100)
3. M(1+T/100)° -T
4. M (1 + M/100)°

Question ID : 65497835004

Status : Answered
Chosen Option : 2

Q5 A car runs 40 minutes at a speed of 45 km/h, next 45 minutes at a speed of 60 km/h and 1 % hours at a speed of 50 km/h.
The average speed (in km/h) of the car for the whole journey is closest to:

Ans X1 52.8
X2 523
X3 519
4 514

Question ID : 65497835016
Status : Answered
Chosen Option : 4

Q.6 The list price of an article is T576. It is sold by allowing 20% discount on the list price. If its cost price is 480, then
what will be the profit/loss percentage?

Ans 1. Loss, 2%
2. Profit, 4%
3. Profit, 2%
4. Loss, 4%
Question ID : 65497835013

Status : Answered
Chosen Option : 4

Q7 Thevalueof [17 + (8 — 5) X 5]+ (25 — 48 + 6 + 12 X 2) is:
Ans 173
X2 37
X3 27
X4 122
Question ID : 65497834998

Status : Answered
Chosen Option : 1




Q.8 What is the smallest number which when added to 5 is exactly divisible by 15, 20 and 21?
Ans X1, 420

2. 415

3. 425
X4 210

Question ID : 65497835007
Status : Answered
Chosen Option : 2

Q9w %ur & wEE Tfe freat & wterar ST §1 TR @S B oax 10% T¥F §, SrwHr quEr

TffF TrgfE MR | ST & 3R g3F fFeT 3,872 #r &, aF %or Hr ¥ (X ) Faen
L

Ans

[any

- 7,500
6,500
- 6,720
7,744

N

w

E

Question ID : 65497834996
Status : Answered
Chosen Option : 3

Q10 T TG F 18% H g T I T AR 3H TG FT 2,475 AHAF F &= F0@m, A 12% F
T T gl aEg F BT Jeu (I F) 7 e

Ans 1. 6,765
2. 1,275
3. 8,250
4. 8,000
Question ID : 65497834995

Status : Answered
Chosen Option : 1

QU If2x + 7y : 4x — 3y::8: 3,thenx: y is:
Ans X1 45:38
X2 22:37
o3 45:26
X4 24:43

Question ID : 65497835003
Status : Answered
Chosen Option : 3




Q.12 The radii of two circles are 21 cm and 25 cm, respectively. What is the area (in cm? ) of the circle whose circumference

is equal to difference of the circumference of the two given circles? (Use T= ?) correct to one decimal place.

AnS X1 497
X2 489
v 503
X4 523

Question ID : 65497834994
Status : Answered
Chosen Option : 3

Q.13 The smallest number to which when 18 is added, the number is exactly divisible by 28, 36 and 45, is:
ANS 11242

X2 280

< 31000

X4 518

Question ID : 65497835001
Status : Answered
Chosen Option : 1

Q14 Ap article is purchased for T425 and sold for T500. The gain percentage is closest to:
Ans X1 18.6%

2 17.65%

X3 16.56%

x4 18%

Question ID : 65497834999
Status : Answered
Chosen Option : 2

Q.15 The average of 26 numbers is 54.5. The average of the first 15 numbers is 58.6 and that of the last 12 numbers is 52. If

the 15™ number is excluded, the average of the remaining numbers will be:

Ans X1 5728
X2 4924
3 53.24
X 4 50.56

Question ID : 65497835012
Status : Answered
Chosen Option : 3

Q.16 Find the compound interest on ¥8,500 in 2 years at 6% per annum, interest being compounded half-yearly.

v 1 %1,066.82
X % 39,968.72
x 3 %1,050.25
x4 31,025.75

Ans

Question ID : 65497835010
Status : Answered
Chosen Option : 1




Q.17 A,Band C together can complete a work in 8 days. If A is 50% more efficient than B and B is 50% efficient than C,
then B alone will complete the same work in:

Ans 1. 16 days
2. 24 days
3. 48 days
4. 36 days

Question ID : 65497835015
Status : Answered
Chosen Option : 4

Q.18 A man sold Z of his articles at a gain of 15% and the remaining at cost price. Find the gain earned by him in the whole
transaction.

Ans

3
X19_0
95A>
1
V2 125%

2
X3 152%
4. 7%

Question ID : 65497835017
Status : Answered
Chosen Option : 2

Q.19 v gFeER 21,800 TF H W W 15% H ge 3R 21,800 ¥ 3w i @l W 175% &
& BT FIaT §1 ege 28 Sy 9 BT T F 225 9 3R 30 9 goi A W ¥ 4 goiw IR
TET &1 3Hegel EART I HT S AR AT A

Ans 131,580
2. 1,684
3. 1,540
4. 31,584

Question ID : 65497834997
Status : Answered
Chosen Option : 4

Q.20 The ratio of three numbers is 3 : 2 : 5 and the sum of their squares is 8550. Find the sum of the numbers.
Ans o 1. 150
X2 172
X3 225
X4 75
Question ID : 65497835009

Status : Answered
Chosen Option : 1




Q.21 {i} 8- (1_6) — (3 — 5 — 4) is equal to:

9—-6 -
Ans X124

2 14

X3 42

X4 35

Question ID : 65497835005
Status : Answered
Chosen Option : 2

Q.22 Ram, who is half as efficient as Krish, will take 12 days to complete a task if he works alone. If Ram and Krish work
together, how long will they take to complete the task?

Ans 1. 2 days
2. 4 days
3. 6 days
4. 8 days

Question ID : 65497835000
Status : Answered
Chosen Option : 2

Q.23 Inaschool total student are only boys and girls. The ratio of boys and girls in a school is 5 : 8. Which of the following
could be the total number of students in the school?

Ans X1 2100
X 2. 1800
X3 2700
4. 1690

Question ID : 65497834993
Status : Answered
Chosen Option : 4

Q24 The mean of the first 7 odd prime numbers (correct to two decimal places) is:
Ans X1 7.34

X2 1235

3. 10.71

X4 1245

Question ID : 65497835002
Status : Answered
Chosen Option : 3




Q.25 A,Band C are three numbers. A is 40% less than B and B is 15% less than C. If C is 50% more than D, then A will be
less than D by:

Ans 1. 23.5%
X2 10.75%
X3 18.5%
X4 24.25%

Question ID : 65497835014
Status : Answered
Chosen Option : 1

Section : Part D English

Q.1 Select the most appropriate option to fill in the blank.

He recovered after a illness.
Ans o 1. prolonged
X 2.stretched
X 3.surprise
X 4. projected
Question ID : 65497835026

Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

“The players needing_a break and we think it’s time for them to rest,” the coach told
the reporters.
Ans " 1.need abreak

X 2. No substitution required
X 3.needs abreak
X 4. are need a break
Question ID : 65497835019

Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate option to fill in the blank.
The book gives a account of the horrors of war.
Ans 4 1. graphic
X 2. buky
X 3. heroic
X 4.pleasant
Question ID : 65497835036

Status : Answered
Chosen Option : 1




Q.4 Select the correctly spelt word.
Ans X 1. Restaraunt

< 2. Millienum
" 3. Maintenance

X 4.Refree

Question ID : 65497835030
Status : Answered
Chosen Option : 3

Q.5 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Laughing for about ten minutes / continuous each day /is supposed to be /good for
your health.

Ans X 1.good for your health
X 2. Laughing for about ten minutes
X 3.is supposed to be

" 4. continuous each day

Question ID : 65497835020
Status : Answered
Chosen Option : 2

Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

The art of effective speaking
Ans X 1. Extempore
< 2. Allocation
X 3. Impromptu
" 4. Elocution

Question ID : 65497835029
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate meaning of the given idiom.
Feel at sea
Ans o 1. To feel lost or confused
X 2. To experience sea for the first time
X 3. To feel exhausted

X 4. To travel always by sea

Question ID : 65497835031
Status : Answered
Chosen Option : 1




Q.8 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

She just completed the work before her friend came.

Ans X 1. has just completed the work
X 2.just has completed the work
+" 3. had just completed the work

X 4.Noimprovement required

Question ID : 65497835024
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to fill in the blank.
Edit and proofread your essay times.
Ans X 1.less
X 2.much
X 3.few

" 4.several

Question ID : 65497835018
Status : Answered
Chosen Option : 4

Q.10 Select the most appropriate ANTONYM of the given word.
Distinctive
Ans X 1.Similarity
< 2.Common
X 3. Original
" 4. Close

Question ID : 65497835035
Status : Answered
Chosen Option : 1

Q.11 Select the correctly spelt word.
Ans X 1.Penninsula

" 2. Pharmacy
< 3. Domicille
X 4. Canibal

Question ID : 65497835025
Status : Answered
Chosen Option : 2




Q.12 Select the most appropriate synonym of the given word.
Facility
Ans X 1.Happiness
X 2. Fitting
o 3. SKkill
X 4. Luck

Question ID : 65497835021
Status : Answered
Chosen Option : 1

Q.13 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select ‘No improvement required'.

The strong wind almost lifted me off my feet.
Ans X 1. above my feet
X 2. over my feet
X 3. against my feet

" 4. No improvement required

Question ID : 65497835037
Status : Answered
Chosen Option : 3

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

Not to pay attention to someone or something
Ans o 1.Ignore
X 2. Attract
X 3.Rebel
X 4.Argue

Question ID : 65497835023
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate ANTONYM of the given word.
Guilty
Ans X 1.Sad
X 2.Ignorant
+" 3. Innocent
X 4.Clever

Question ID : 65497835028
Status : Answered
Chosen Option : 3




Q.16 Select the most appropriate synonym of the given word.
Kinship
Ans X 1.Viewership
X 2. Partnership
" 3. Relationship
X 4. Incompatibility

Question ID : 65497835033
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate meaning of the given idiom.
In the same boat
Ans X 1.Sharing a ride
X 2. Having fun
X 3. To be calm

" 4.In asimilar situation

Question ID : 65497835022
Status : Answered
Chosen Option : 4

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

A change which is the result of an act or some cause
Ans X 1. Addition
X 2. Affect
" 3. Effect
< 4. Product

Question ID : 65497835034
Status : Answered
Chosen Option : 3

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Theroad was blocked / so we had /to turn back and / find another one route.
Ans X 1.sowe had
< 2.toturn back and
X 3. Theroad was blocked

«" 4. find another one route

Question ID : 65497835032
Status : Answered
Chosen Option : 4




Q.20 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Has the situation / been favourable, / | would have / attended the marriage.

Ans X 1.been favourable

X< 2.1 would have
" 3. Has the situation

X 4. attended the marriage

Question ID : 65497835027
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans X 1.when

X 2.that
" 3. which
X 4. where

Question ID : 65497835039
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.none

¥ 2. some
X 3.much

X 4.any

Question ID : 65497835040
Status : Answered
Chosen Option : 2




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans X 1. adventure

X 2.passage
X 3. visit
o 4. journey

Question ID : 65497835041
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.
SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1. practical
X 2. portable
4 3. poss ble

X 4.probable

Question ID : 65497835042
Status : Answered
Chosen Option : 3
|
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans & 1. adorable

X 2.reliable
X 3.suitable
X 4.capable

Question ID : 65497835043
Status : Answered
Chosen Option : 1

Section : Part D Hindi



Q.1 feu T ar HTag YN 1oTd FR oy #1g 1,00 31 R 18 1, a8 &, @t &1
TP Tt ggT
I T (1) 3R AP uw wE F (2) AmaaFAT AR T (3) Bs T.fE
T @) Ans X 1.4
X 23
X 3.2
o 4.1
Question ID : 65497835050

Status : Not Answered
Chosen Option : --

Q.2 f>gu T ar HTag URT joTd B Pod &g 1,00 31 Re #1g 1,0 76 §, @t &g
TP T g
I gie 2@ (1) 98 @ (2)\ T @I (3)\ Bis 10T T
g (4Ans X 1.4
X 21
o 3.3
X 42
Question ID : 65497835045

Status : Not Answered
Chosen Option : --

Q3 3AsY-FMF NI Pauaesw ST, 4 o199

gaR foxr & gl
Ans X 1.93dd
X 2.%8d
¥ 3.78d
X 4.99d
Question ID : 65497835049

Status : Not Answered
Chosen Option : --

Q4 Pgumd 31 TP PDavgew T -

Ans X' 1. SreHdA
X 2.3
X 3.9
o 4. o
Question ID : 65497835047

Status : Not Answered
Chosen Option : --




Q.5 g are ¥ Warfea @e & ufonfia #3= & fore v Suged fAwen o1 3- +31
uﬁgﬁuﬁwﬁaﬁ B B AARGHAT T8l &, A vy Tt agama ot sravgear @ &
BT I Y|

it 3 FEIS YTl
Ans X 1. YaRIGR B!
X 2 IRE g 0@
X 3. IaRTE 3R g@ ot
4 T aeama ot sraadar T

Question ID : 65497835044
Status : Not Answered
Chosen Option : —

Q.6 fag e wreg @1 faeim g1
&R
Ans  x 1 faaR
X 2. R
X 3. FReRr
o 4. JER

Question ID : 65497835051
Status : Not Answered
Chosen Option : —

Q7 I ey &1 907 oY ot Fre geray &1 wét 3 suaa sear 21
Hewt o fE@rT
Ans X 1 R feamn
o 2. I-3rsS] did HEDR Se DMl
X 3. GRUYRA
X 4. 3T 9O AT

Question ID : 65497835048
Status : Not Answered
Chosen Option : -

Q8 g # A #9 & g ¥ vafgar v Ry g &2
Ans X 1 SO - WY

2. e - TS

X 3. 3194 - TRHETHT ZARA

X 4ATR-TS

Question ID : 65497835062
Status : Not Answered
Chosen Option : -




Q9 | IR I ¥ &1 I IrTa™ F o ve weg B
Ans X 1 @ug!

& 2. B

7 3. oflar=q

X 4 5|

Question ID : 65497835063
Status : Not Answered
Chosen Option : —

Q.10 ﬁqnqmamﬁ@‘qgih
I
Ans X 1. fider
2 diaa
x 37w
X 4T

Question ID : 65497835055
Status : Not Answered
Chosen Option : —

Q.11 3% T qren ¥ WRarfea o B ufawnita $3 & e aad Suge e a1 sma &3
U Hex F AU F Rwar 31
Ans X 1.Wifg
X 2. 9Hd

3.9
X 4@

Question ID : 65497835059
Status : Not Answered
Chosen Option : -

Q.12 39 Rieey o1 997 oY 5 Fra gerat o1 98t orf s1ad Fear 1

faw e
Ans X 1. BT
X 2 s ugar
3. 29U a1 HAT
X 4. 938 B AR &l

Question ID : 65497835056
Status : Not Answered
Chosen Option : —




Q.13 Y Y Wreg T SN Weg P A | Sl W d 2
iric
Ans X 1_3ffdraq
X 2@z
3
X 4. ®Td

Question ID : 65497835046
Status : Not Answered
Chosen Option : —

Q.14 F& g 919 Ve BTG |
Ans 1. fagHl

X 2 fagh

X 3. digHt

X 4 fagdt

Question ID : 65497835054
Status : Not Answered
Chosen Option : —

Q15 3R R BT UgAIC-
&/ dar o1/ foarsh & Ty s rit @
Ans X 1%
2 SRS R
X 3. faaR &t
X 4 foarh & Oy

Question ID : 65497835061
Status : Not Answered
Chosen Option : -

Q.16 Ryaa = 31 gfd & e et Sugea g &1 997 F3-
sy 7 arT A 5 Bt Wt @S e P e A o4t
Ans 1 5
X239
X399
X4

Question ID : 65497835058
Status : Not Answered
Chosen Option : —




Q.17 i 3w areg & Raa-wm 3t gif & e wed Suge s a1 saa w80

ga__ Hftwhaz
Ans X 1. BSDERS

X 2. RS
X 3. IRWIeC
4. WS
Question ID : 65497835057
Status : Not Answered
Chosen Option : —
Q.18 F g1t 91! Vg BT 9 DI}
Ans X 1. 3OAD
o 2. D
X 3. qHidAs
X 4. Rsfdas
Question ID : 65497835053
Status : Not Answered
Chosen Option : —
Q.19 T3 7 areaT ¥ o ve v AR
S $9 @ B G 8
Ans X 1. 3ot
2 2. sifqomdt
o 3. foceadi
7 4. gl
Question ID : 65497835052
Status : Not Answered
Chosen Option : -
Q.20 gepTer ¥ Y & T Bt 1wt 8 Sl B
e WE & WM W 3fa v fafae-
Ans X 1 [RIRIHS®
X 2. §gd Wi
« 3. HEHd
X 4 R

Question ID : 65497835060
Status : Not Answered
Chosen Option : —




Comprehension:

U T T # ¥ @ sk gl fAU Y 1 Gafld vl 7 ude S & foe Yed Jugad fadey
COEUEE Y

g 7 @1 39 (1) 1 Giad &, fored 779 (2) & BRU I B (3) H (4)
Bl SIIdl g1 Hig & HRUI gAR] a1 IR H¥d &1 (5) ¢ Sl gl

SubQuestion No : 21

Q.21 T F fYea wIF (1) & fore waifte Suged weg 2m-
Ans 21 T30

X 2. DA

X 3. uRafad

X 4.9

Question ID : 65497835065
Status : Not Answered
Chosen Option : -

Comprehension:

T T e 7§ $9 ek gl faU MU &1 alid Ul H Udd W & fog Yed 3ugdd fddey
BT 9GT B

g T 31 39 (1) DI idd o, o 779 (2) & HRU I Bl (3) 7))
_ @YSIAI31 Wig & BRI gART Al IR B B (5) ¢ ST gl

SubQuestion No : 22
Q.22 T F e ®IF (2) & fore waifie Suged e 2-
Ans o 1.YHA

X 2.9d1

X 3. faqwan

X 4.l

Question ID : 65497835066
Status : Not Answered
Chosen Option : -

Comprehension:

UMY e 7 ¥ $® Weg gl AU T &1 W Uil H YD TS & for e Iugdd faded
CaEus Rl

e T 31 39 (1) $I iad o, for s 799 (2) & HRU I Bl (3) 7 (4)
Bl ST 81 A8 & HRUI HARI a1 IR HHAE @l (5) a6 SdT gl
SubQuestion No : 23
Q.23 T & fYed = (3) ¥ fore waifie Suged v Em-
Ans X 1.SFH
X2gH
o 3. UgdFA
X 4. b

Question ID : 65497835067
Status : Not Answered
Chosen Option : -




Comprehension:

UL TR 7 U $© Weg gl AU 1T &1 Wl w7 udd wem & fo el Sugad faded
&1 9G BR

AT AT DI 3 (1) B1 gD &, FoRH 779 (2) P HRUTI I (3) T (4)
_ @Iargl i & ORI gARI Ad- R HHE @ (5) q¢ Wi gl

SubQuestion No : 24
Q.24 e & fYaw R (4) ¥ g waifie Suged weg EFm-
Ans X 1_ﬁgur
o 2. 3y
X 3. Higra
X 4. fqaw

Chosen Option : -

Question ID : 65497835068
Status : Not Answered

Comprehension:

TR TTT T 7 ¥ $9 Wk gel faU T 1 waltid vl 7 vdd S & fo Yed Jugad faded
BT DR

g 7 &1 39 (1) PI ad o, ForeH 779 (2) F PRUIIA @ (3) 7 (4)
@IV gl Hig & &R gHRT Ad1 R J9d 0 (5) 9¢ ST gl

SubQuestion No : 25
Q.25 T ¥ fa R (5) ¥ forg walfire Suges v Erm-
Ans X 1.5@2[
o 2. 3R]
X 3.9R
X 4.3

Question ID : 65497835069
Status : Not Answered
Chosen Option : —




Exam Date 26/11/2021
Exam Time : 12:30 PM - 2:00 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 Select the option that is related to the third term in the same way as the second term is
related to the first term.

LARGE : NDTJG :: APPLES : ?
Ans X 1.CSROPU

« 2. CSROGV

X 3.CSORGV

X 4.DSROGV

Question ID : 65497831392
Status : Answered
Chosen Option : 2

Q.2

In the following diagram, the circle represents '"Managers', the square represents 'Honest', the rectangle represents
'Females', and the triangle represents Rural'.

\
AN
10\! N

13) \
6 12 o |3

2. /0

A The num“m";"at represents rural honest managers who are NOT females is:
ns 1.

“

X29
3 13
X410

Question ID : 65497831398
Status : Answered
Chosen Option : 3

Q.3 In acertain code language, ‘FLORA’ is written as ‘DORII'. How will ‘MUSIC’ be written
in that language?

Ans X 1.FVFPR
X 2.GQWQF
«” 3.FFVRP
X 4.GFWQQ

Question ID : 65497831399
Status : Answered
Chosen Option : 3




Q.4 Rajan’s family spends 60% of their monthly income on groceries, 12% of their monthly
income on room rent, 8% of their monthly income on medical expenses, and the
remaining amount of%18,000 is savings. What is Rajan's family’s monthly income?

Ans X 1.%80,250
< 2.%90,200
«” 3.%90,000
X 4.%80,000

Question ID : 65497831402
Status : Answered
Chosen Option : 3

Q.5 Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

P
DOC4UMEONT|
Q

AL TUMIMURDOA
v2TUeIMUMDOA
X*DOCtTNWE3dNL
X*DOCdNWEYNUL

Question ID : 65497831411
Status : Answered
Chosen Option : 2

Q-6 Select the option in which the given figure is embedded (rotation is NOT allowed).

o=

x| h==m

Ans

Question ID : 65497831391
Status : Answered
Chosen Option : 3




Q.7 Six friends, G, HI, J, K and L, are sitting around a circular table, facing towards the
centre of the table. H is sitting third to the left of G. L and | are not neighbours of H. K
is sitting to the immediate right of I. Who is sitting to the immediate left of L?

Ans o 1.0
X 2.H
X 3.1
X 4G
Question ID : 65497831397

Status : Answered
Chosen Option : 1

Q.8 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Censored
2. Cerebellum
3. Centripetal
4, Ceremonial
5. Centurion

Ans 4 1.1,35 2.4
X 231,254
X 3.321,4,5
X 4.1,53,4,2
Question ID : 65497831404

Status : Answered
Chosen Option : 1

Q.9 Atharv is married to Chetna, who is the only sister of Dilip. Chetna's paternal
grandfather is Mukul. Neha is married to Mukul and they have two sons, Hardik and
Bhavesh. Hardik is unmarried. Anjali is the daughter-in-law of Neha. Gyan is the son of

Dilip and Ekta. How is Chetnarelated to Gyan?
Ans X 1.Wife
X 2. Sister-in-law
«" 3. Aunt
X 4. Daughter-in-law
Question ID : 65497831394

Status : Answered
Chosen Option : 3

Q.10 Eight friends, P, Q, R, S, T, U, V and W, are sitting clockwise around a circular table in
the same sequence, facing the centre, at equal distances between them. If U is facing
the north-east direction, then who is facing the south direction?

Ans X 1.T
X 2.R
X 3s
o 4P
Question ID : 65497831387

Status : Answered
Chosen Option : 4




Q.11 ‘Lucknow'is related to 'Gomti' in the same way as 'Varanasi' is related to ¢ .
Ans X 1.Yamuna

X 2.Saryu
4« 3. Ganga
X 4. Godavari

Question ID : 65497831396
Status : Answered
Chosen Option : 3

Q.12 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans

Question ID : 65497831403
Status : Answered
Chosen Option : 2

Q.13 Two different positions of the same dice are shown, the six faces of which are numbered from 1 to 6. Select the number
that will be on the face opposite to the face showing '2'.

Ans

Question ID : 65497831390
Status : Answered
Chosen Option : 1




Q.14 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

STGMQ, SGQTM, SQMGT, ?
Ans X 1.STQMG
X 2.SGTQM
« 3.SMTQG
X 4.SMQTG

Question ID : 65497831395
Status : Answered
Chosen Option : 1

Q.15 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

TK_TKT_P_K_KPTK_K_TK
Ans X 1.P,T,KP,TK
& 2.P.KTT,T,P
X3P KTPKT
X 4P TTKPT

Question ID : 65497831405
Status : Answered
Chosen Option : 2

Q.16 In a certain code language, ‘POEM’ is coded as ‘63’. How will ‘FILE’ be coded in that
language?

Ans X 1.78
X 2.82
" 3.80
X 4.76

Question ID : 65497831409
Status : Not Answered
Chosen Option : --

Q.17 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.BQJM
X 2.ATGN
X 3.GSHH
" 4. DEWK

Question ID : 65497831408
Status : Answered
Chosen Option : 4




Q.18 Which two numbers should be interchanged to make the given equation correct?
27 +36+9 x 1524 =57

Ans o 1.27 and 24

X 2.27and9

X 3.24and9

X 4.15and 9

Question ID : 65497831389
Status : Answered
Chosen Option : 1

Q.19 Study the given pattern carefully and select the number that can replace the question
mark (?)in it.

31626
42032
6287

Ans X 1.38
X 2.46
o 3.44
X 4.48
Question ID : 65497831401

Status : Answered
Chosen Option : 3

Q.20 Select the number from among the given options that can replace the question mark
(?) in the following series.

31, 32, 36, 63, 79, 204, ?
Ans X 1.220
X 2.202
X 3.204
o 4.240

Question ID : 65497831406
Status : Answered
Chosen Option : 4

Q.21 Select the number from among the given options that can replace the question mark
(?)in the following series.

10, 21, 35, 56, 90, 145, 231, 360, ?
Ans o 1.546
X 2.463
X 3.564
X 4.436

Question ID : 65497831410
Status : Answered
Chosen Option : 1




Q.22 Select the option that is related to the fourth number in the same way as the first
number is related to the second number and the fifth number is related to the sixth
number.

15:555::?2:221::17:719
Ans X 1.23

X221

X< 3.19

o 4.5

Question ID : 65497831388
Status : Answered
Chosen Option : 2

Q.23 select the figure from among the given options that can replace the question mark (?) and complete the pattern (rotation
is NOT allowed).

Ans

&1

x 2

x 3

X 4

Question ID : 65497831407
Status : Answered
Chosen Option : 1

Q.24 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some cars are trains.
Some trains are tractors.

Conclusions:

I. No tractor is acar.

II. No train is a car.

Ill. Sometractors are cars.

Ans X 1.Both conclusions I and Il follow
< 2. All the conclusions follow
«# 3. Either conclusion | or Il follows

< 4. Both conclusions Il and 11l follow

Question ID : 65497831400
Status : Answered
Chosen Option : 3




Q.25 In acertain code language, ‘FLOWER’ is written as ‘KQTSAN’. How will ‘WINDOW’ be
written in that language?

Ans X 1.CNSZLS
X 2.BNSALS
«" 3.BNSZKS
X 4.BMSAKS

Question ID : 65497831393
Status : Answered
Chosen Option : 3

Section : Part B General Knolwedge and General Awareness

Q.1 In which of the following seasons are watermelon, muskmelon etc. produced in India?
Ans X 1.Kharif

¥ 2. Zaid

X 3.Rainy

X 4. Rabi

Question ID : 65497831425
Status : Answered
Chosen Option : 2

Q.2 'Jagoi', an Indian classical dance form, is traditionally from the state of
Ans X 1. Punjab

X 2. Guijarat
X 3.Karnataka
" 4. Manipur

Question ID : 65497831412
Status : Not Answered
Chosen Option : --

Q.3 Every bill after being passed by the houses of parliament, either singly or in ajoint
sitting, is presented to the for his assent.

Ans " 1. President
X 2. Law Minister
< 3. Chief Justice
X 4. Prime Minister

Question ID : 65497831419
Status : Answered
Chosen Option : 1

Q.4 The first Economic Survey of India was presented in
Ans X 1.1965-66

X 2.1972-73
X 3.1948-49
o 4.1950-51

Question ID : 65497831436
Status : Answered
Chosen Option : 4




Q.5 Which of the following is an instrument of monetary policy of the Reserve Bank of
India?

Ans X 1.Public debt
X 2.Taxrate
X 3. Government expenditure

" 4. Reporate

Question ID : 65497831416
Status : Answered
Chosen Option : 4

Q.6 Which of the following is NOT a sustainable method of waste management?
Ans X 1.Recycling

X 2. Landfill
«" 3.Burning

X 4. Incineration

Question ID : 65497831414
Status : Answered
Chosen Option : 3

Q.7 Who among the following was one of the Indian winners of the Great Immigrants of the
Year 2020 award given by the US?

Ans X 1.Deepak Chopra
X 2. Nkki Haley
«" 3. Siddhartha Mukherjee
X 4. Gita Gopinath

Question ID : 65497831415
Status : Answered
Chosen Option : 4

Q.8 Diego Maradona, the Argentine soccer player who passed away on 25 Nov 2020, is
fondly remembered for one memorable goal known as:

Ans X 1.'Golden hand' goal
X< 2.'Silver lining' goal
+" 3.'Hand of God' goal
X 4.'Hand of Maradona' goal

Question ID : 65497831435
Status : Answered
Chosen Option : 1

Q.9 With reference to the literature of the medieval Indian period, which of the following
pairs is correct?

Ans X 1.Rajatarangini - Bilhana
X 2. Prithviraj Raso - Nripatunga
X 3.Vikramankadevacharita - Kalhana

" 4. Gitagovinda - Jayadeva

Question ID : 65497831418
Status : Answered
Chosen Option : 3




Q.10 Who invented the electric bulb?
Ans X 1. Albert Einstein

X 2.Isaac Newton
%" 3. Thomas Alva Edison

X 4. Alexander Graham Bell

Question ID : 65497831434
Status : Answered
Chosen Option : 3

Q.11 Who among the following was the founder of Khudai Khidmatgar, a predominantly
Pashtun nonviolent resistance movement known for its activism against the British
Raj in colonial India?

Ans X 1.Lala Lajpat Rai
X 2.Bal Gangadhar Tilak
+" 3. Khan Abdul Ghaffar Khan
X 4.Subhash Chandra Bose

Question ID : 65497831417
Status : Not Answered
Chosen Option : --

Q.12 The Rajarajeshwaratemple at Thanjavur is dedicated to:
Ans X 1.Lord Rama

X 2. Lord Ganesha
< 3. Lord Krishna
" 4. Lord Shiva

Question ID : 65497831432
Status : Answered
Chosen Option : 1

Q.13 Which of the following statements about the Mughal Emperor Babur is INCORRECT?
Ans X 1. He was the first Mughal Emperor.

X 2. He succeeded to the throne in 1494.
" 3. He was 18 years old when he ascended the throne.

X 4. He succeeded to the throne of Ferghana.

Question ID : 65497831430
Status : Answered
Chosen Option : 2

______________________________________________________________________________________________|
Q.14 In which of the following states is the Similipal National Park located?

Ans & 1. Odisha
< 2. Tamil Nadu
X 3.Bihar
X 4. Maharashtra

Question ID : 65497831423
Status : Answered
Chosen Option : 1




Q.15 In November 2020, the Andaman and Nicobar Command (ANC) conducted a joint
services exercise code-named involving the three services components of
Andaman and Nicobar Command.

Ans X 1. Blue R bbon
X 2. Bull Fight
X 3.Blue Sea
¥ 4. Bull Strike

Question ID : 65497831422
Status : Not Answered
Chosen Option : --

Q.16 Theterm 'Panchsheel’ is associated with which of the following options?
Ans X 1. Fundamental Duties

< 2. Composition of NITI Aayog
X 3. Inter-State Relations

" 4. Foreign Policy of India

Question ID : 65497831421
Status : Not Answered
Chosen Option : --

Q.17 Which Indian union territory has ‘Dugong’ as the state animal?
Ans X 1.Daman Diu

X 2. Puducherry
X 3. Ladakh

" 4. Andaman Nicobar

Question ID : 65497831429
Status : Answered
Chosen Option : 4

Q.18 Who among the following declares the Minimum Support Price (MSP) for the crops?
Ans X 1. Ministry of Rural Development

< 2. Ministry of Consumer Affairs, Food and Public distribution
¥ 3. Ministry of Agriculture and Farmers Welfare

X 4. Ministry of Food Processing Industries

Question ID : 65497831427
Status : Answered
Chosen Option : 3

e __________________________________________|
Q.19 Lala Lajpat Rai, a nationalist from Punjab, was a member of the
Ans X 1. Conservative group

X 2. Moderate group
¥ 3. Radical group

X 4. Republican group

Question ID : 65497831428
Status : Answered
Chosen Option : 4




Q.20 As of October 2020, how many beaches of India have been awarded the 'Blue Flag
Certification'?

Ans X 1.7

2.8

X 3.9

X 4.6

Question ID : 65497831431
Status : Answered
Chosen Option : 2

Q.21 Rice needs to grow.

Ans X 1. moderate temperature and rainfall
¥ 2. high temperature, high humidity and rainfall
X 3. moderate temperature and lots of sunshine

X 4. high temperature and light rainfall

Question ID : 65497831433
Status : Answered
Chosen Option : 2

Q.22 Which of the following words has been named the ‘2020 Word of the Year’ by
Cambridge Dictionary?

Ans X 1.Pandemic
" 2. Quarantine
< 3. Lockdown
X 4. Survive

Question ID : 65497831420
Status : Answered
Chosen Option : 2

Q.23 Which of the following is a characteristic of '‘Pteridophytes'?
Ans X 1. They do not have a true vascular tissue containing lignin.

X 2. Their lifecycles are dominated by the gametophyte stage.
X 3. Their sporophytes are unbranched.

" 4. They neither produce flowers or seeds.

Question ID : 65497831413
Status : Not Answered
Chosen Option : --

______________________________________________________________________________________________|
Q.24 Which of the following was NOT a venue in IPL 20207
Ans X 1. Sharjah

& 2. Muscat
X 3.Dubai
X 4. Abu Dhabi

Question ID : 65497831426
Status : Not Answered
Chosen Option : --




Q.25 In which of the following states did the Union Minister of Youth Affairs and Sports,
Kiren Rijiju virtually inaugurate the 11th Regional Centre of Sports Authority of Indiain
November 2020?

Ans X 1.0Odisha
X 2.Assam
X 3.Kerala
" 4. Punjab

Question ID : 65497831424
Status : Answered
Chosen Option : 1

Section : Part C Elementary Mathematics

Q.1 Amotor boat covers a distance of 24 km upstream in one hour more than the time taken to cover the same distance
downstream. If the speed of the current of the river is 2 knvh, then what is the speed (in km/h) of the boat in upstream

travel?

Ans 1 8
X2 6
<3 10
X409
Question ID : 65497831450

Status : Not Answered
Chosen Option : --

Q.2  If the retail price of a table is ¥900 and the gain percentages of the manufacturer, the wholesale dealer and the retailer
are 8%, 10% and 20%, respectively, then what is the cost of production of the table (rounded off to the integer value)?

Ans 1. %869
2. %631
3. ¥546
4. X750

Question ID : 65497831458

Status : Answered
Chosen Option : 2

Q3 9+{5-5+(6—7)x8+9}
The value of is:
4+4x4+40f4
Ans 1
X 1 o
2
30
%3
15
x 4.
90

Question ID : 65497831443
Status : Answered
Chosen Option : 2




Q.4 Marked price of an item is T800. If a shopkeeper offers two discounts, one of 10% and another of 5% on the item, how
much will be the selling price of the item?

Ans 13690
2. 3720
3. 3562
4. 3684
Question ID : 65497831457

Status : Answered
Chosen Option : 4

Q.5 The profit made by selling an article for 12,400 is equal to the loss incurred on selling the same article at T10,600.
‘What will be the profit per cent if it is sold for T14,950?

Ans X125

X2 28

X3 32

¥4 30
Question ID : 65497831451

Status : Answered
Chosen Option : 4

Q.6 The LCM and HCF of two numbers are 420 and 6. respectively. If sum of the numbers is 102, then what is the
difference of the numbers?

Ans X1 22
X2 42
3 18
X 4. 60

Question ID : 65497831437
Status : Answered
Chosen Option : 3

Q.7 The volume of a right circular cylinder is 8448 em? and its curved surface area (in cm?) is% of the number representing
its volume. What is the height (in cm) of the cylinder?

Ans X1 8.4
X2 9.1
X3 11.2
¥4 10.5

Question ID : 65497831461
Status : Answered
Chosen Option : 4




Q8 15 persons begin to work together on a job, but after some days 6 persons leave. As a result, the job which could have
been completed in 42 days is completed in 54 days. After how many days of the commencement of the work did 6
persons leave?

Ans 1 24
X212
X3 18
X4 32
Question ID : 65497831449

Status : Not Answered
Chosen Option : --

Q.9  aright-angled triangle, the right angle is contained between the sides with lengths 14 cm and 48 cm. If it is made to

revolve around the longer side, what is the volume of the solid so formed? (Use = 2;%)

ANS 129568 cm®
2. 2112 cm?
3. 33792 cm?®
4. 9856 cm?®

Question ID : 65497831442
Status : Not Answered
Chosen Option : --

Q.10 The amount obtained by investing a sum of T15,000 at 8% p.a. in a certain time is T17,496, interest compounded
annually. What will be the amount (in ¥) of the same sum at 15% p.a. for the same time, interest compounded 8-
monthly?

Ans 1. 19,976
2. 19,965
3. 19,943
4. 19,954
Question ID : 65497831460

Status : Not Answered
Chosen Option : --

Q.11 1na college election, the winning secretarial candidate got 69% of the votes and won 342 votes more than his rival. The
total number of students in the college is:

Ans X1 800
+ 2. 900
X3 750
X 4. 1000
Question ID : 65497831448

Status : Answered
Chosen Option : 2




Q.12  The average weight of a certain number of children in a group was 31 kg. If 11 children of average weight 32.5 kg

joined the group, then the average weight of all the children would increase by 0.25 kg. The number of children initially
in the group was:

Ans  X'1. 60
X2 50
# 3 55
X4 45

Question ID : 65497831446
Status : Not Answered
Chosen Option : --

Q13 . 1 i 2
Find the value of 3 + (1+;—{3 —(8+2)}+;+;).
A
ns « . E]
30
_ 67
30
_ 37
30
x4 125
30
Question ID : 65497831455

Status : Answered
Chosen Option : 1

Q.14 Ppipe A s a filling pipe while B and C are emptying pipes. Pipe A alone can fill the tank in 10 hours and pipe B alone can
empty two-third part of the tank in 20 hours. If all the three pipes are opened together, the tank is completely filled in 40
hours. In how many hours can C alone empty two-third part of the tank?

Ans X1 24
X2 12
3 16
x4 20

Question ID : 65497831445
Status : Answered
Chosen Option : 3

Q.15 A person walking at a speed of 7.2 km/h and crosses a bridge in 25 minutes. Find the length of the bridge (in metres).

Ans X1 1575
X 2. 1960
« 3. 3000
X 4. 2000

Question ID : 65497831456
Status : Answered
Chosen Option : 3




Q16 What is the greatest four-digit number which is exactly divisible by 24, 40 and 48?

Ans X' 1. 9960
X 2. 9990
X 3. 9980
« 4 9840

Question ID : 65497831453
Status : Answered
Chosen Option : 4

Q.17 From a basket full of eggs, 20% of the eggs broke, 8% were rotten and 24% were kept aside for baking a cake. The
remaining 12 eggs were consumed by some people. How many eggs were there in the basket initially?

Ans @125
X252
X3 20
x4 48

Question ID : 65497831454
Status : Answered
Chosen Option : 1

Q18 yWhat is the third proportional to 18, 122
Ans x L 7

2 8

X3 66

X409

Question ID : 65497831441
Status : Answered
Chosen Option : 2

Q.19 Amarnath invested a sum of 222,500. At what rate of simple interest per annum will he obtain a total amount of 28,800
at the end of 4 years?

Ans &L 7%
X2 6%
X3 5%
X4 4%

Question ID : 65497831440
Status : Answered
Chosen Option : 1

Q.20

A certain sum of money amounts to T12,144 at simple interest in 4 years and to T13,984 in 6% years. The rate of interest

Ans XL 904
v % 8%
X3 10%
x4 6%

Question ID : 65497831452
Status : Not Answered
Chosen Option : --




Q.21 Atrader earns a profit of 30% by selling an article X and loses 16% by selling another article Y. If the ratio of the cost
prices of X and Y is 3 : 4, then what is the gain/loss in the entire transaction (correct to one decimal place)?

Ans & 1. Gain of 3.7%
X 2. Gain of 4.8%
X 3. Loss of 4.5%
X 4. Loss of 3.9%

Question ID : 65497831444
Status : Answered
Chosen Option : 1

Q.22 152 is divided into three parts such that one-fifth of the first part, one-third of the second part and one-eleventh of the
third part are equal. What is the sum of the second and the third part?

Ans 1 112
X2 128
X3 120
x4 64

Question ID : 65497831439
Status : Not Answered
Chosen Option : --

Q.23 The average of 48 numbers is 48. It was found later that observation 48 was wrongly taken as 84 at two places. What is

the correct average?

Ans X1 47.25
¥ 2. 46.5
X3 84
X4 495

Question ID : 65497831438
Status : Answered
Chosen Option : 1

Q.24 The marked price of an item is T15,800. If a shopkeeper earns a profit of 18% after allowing a discount of 20%, then the
cost price (in ) of the item (nearest to T1) is:

Ans 1. 12,640
2. 15,415
3. 13,756
4. 10,712

Question ID : 65497831447
Status : Answered
Chosen Option : 4




Q.25 The incomes of A and B are in the ratio 5 : 7. The expenditure of A is equal to the savings of B. If the total expenditure
of A and B is 15,750, then their total savings (in %) is:

Ans o 1. 11,250
X 2 11,180
X 3 11,200
X 4 11,280

Question ID : 65497831459
Status : Not Answered
Chosen Option : --

Section : Part D English

Q.1 Select the most appropriate ANTONYM of the given word.
Resource
Ans X 1.Property
X 2.Reserve
& 3. Lack
X 4.Source
Question ID : 65497831477

Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate option that can substitute the underlined word in the
given sentence.

She was the only companion Becky could confinein.
Ans o 1.confide
X 2.console
< 3.confer
X 4. content
Question ID : 65497831466

Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

You are ill if you eat all that food.
Ans X 1.have been
& 2. will be
X 3.were
< 4. No substitution required
Question ID : 65497831462

Status : Not Answered
Chosen Option : --




Q.4 Select the option that can be used as aone-word substitute for the given group of
words.

Arecurrent urgeto steal
Ans o 1. Kleptomania
X 2. Pyromania
X 3. Monomania

X 4. Dipsomania

Question ID : 65497831478
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate meaning of the given idiom.
To put something on hold
Ans X 1. To cancel something
X 2. To procure something
+" 3. To postpone something

X 4. To transfer something

Question ID : 65497831480
Status : Not Answered
Chosen Option : --

Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

A person who loves, supports and defends his country
Ans X 1.Dreamer
X 2. Lover
< 3. Fellow man
& 4. Patriot

Question ID : 65497831474
Status : Not Answered
Chosen Option : --

Q.7 Select the option that can be used as aone-word substitute for the given group of
words.

The sound abear makes
Ans X 1.Caw
X 2.Bray
«" 3.Growl
X 4. Purr

Question ID : 65497831465
Status : Not Answered
Chosen Option : --




Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Nobody were / allowed into / the containment zones / during the pandemic.
Ans X 1. during the pandemic
X 2. allowed into
X 3.the containment zones

" 4. Nobody were

Question ID : 65497831468
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Last Sunday_| returning home late at night.
Ans X 1. No substitution required

" 2. |returned home
< 3.1am returning home

X 4.1had been returning home

Question ID : 65497831472
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate option to fill in the blank.
The type of turban worn by Indians from one region to another.
Ans o 1.varies
X 2. originates
X 3.belongs
X 4. follows

Question ID : 65497831470
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate option to fill in the blank.
,he has only himself to blame.
Ans X 1.Immediately
X 2. Accurately
" 3. Ultimately
X 4. Happily

Question ID : 65497831481
Status : Not Answered
Chosen Option : --




Q.12 Select the most appropriate synonym of the given word.
Restrain
Ans X 1.Provoke
«" 2. Control
X 3.Force

X 4.Encourage

Question ID : 65497831473
Status : Not Answered
Chosen Option : --

Q.13 Select the INCORRECTLY spelt word.
Ans X 1. Termite

X 2. Terabyte
«" 3. Terestrial
X 4. Terminal

Question ID : 65497831479
Status : Not Answered
Chosen Option : --

Q.14 Selectthe INCORRECTLY spelt word.
Ans X 1. Picnic

X 2. Picture
«" 3. Pickel
X 4. Piano

Question ID : 65497831463
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate ANTONYM of the given word.
Collect
Ans X 1.Hoard
X 2.Compose
" 3. Disperse
X 4.Confine

Question ID : 65497831467
Status : Not Answered
Chosen Option : --

Q.16 Select the most appropriate synonym of the given word.
Vital
Ans X 1.Hungry
& 2. Crucial
X 3.Bold
X 4. Ambitious

Question ID : 65497831469
Status : Not Answered
Chosen Option : --




Q.17 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

A grand celebration in honour of afirst woman gold medallist was organised by the
family members.

Ans o 1. afirst woman gold medallist
X 2. by the family members
< 3.in honour of
X 4. grand celebration
Question ID : 65497831476

Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate meaning of the given idiom.
At the eleventh hour
Ans X 1.Too late in the night
< 2. 0ne hour before noon
" 3. Atthe very last minute
X 4.At11:00 am
Question ID : 65497831475

Status : Not Answered
Chosen Option : --

Q.19 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

Children are fond of eating food from Mala aunties small shop at the corner of the
street.

Ans & 1. Mala aunties small shop
X 2. arefond of
X 3.food from
X 4. atthe corner
Question ID : 65497831471

Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate option to fill in the blank.
Though he earned meagre wages, he was with his life.
Ans & 1. contented
X 2. enthusiastic
X 3.irritated
< 4.miserable
Question ID : 65497831464

Status : Not Answered
Chosen Option : --




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Life processes are similar in all animals with (1) . So physiologists can find out a lot
about the human body by studying animals (2) frogs, rats and rabbits. Sometimes,
research involves the death of these animals. But, physiologists take great care to not
3) the animals. The animals are (4) put to sleep during the experiments. It is
only by physiological research (5) medicine has been able to advance
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans X 1. backbone
X 2.the backbones
X 3. the backbone
o 4. backbones

Question ID : 65497831483
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Life processes are similar in all animals with (1) . So physiologists can find out a lot
about the human body by studying animals (2) frogs, rats and rabbits. Sometimes,
research involves the death of these animals. But, physiologists take great care to not

3) the animals. The animals are (4) put to sleep during the experiments. It is
only by physiological research (5) medicine has been able to advance

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.aslkeas

X 2.assuch
¥ 3.suchas
X 4.as ke

Question ID : 65497831484
Status : Not Answered
Chosen Option : --

|
Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Life processes are similar in all animals with (1) . So physiologists can find out a lot
about the human body by studying animals (2) frogs, rats and rabbits. Sometimes,
research involves the death of these animals. But, physiologists take great care to not

3) the animals. The animals are (4) put to sleep during the experiments. It is
only by physiological research (5) medicine has been able to advance

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans & 1. hurt

X 2.displease
X 3.damage
X 4.destroy

Question ID : 65497831485
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Life processes are similar in all animals with (1) . So physiologists can find out a lot
about the human body by studying animals (2) frogs, rats and rabbits. Sometimes,
research involves the death of these animals. But, physiologists take great care to not
3) the animals. The animals are (4) put to sleep during the experiments. It is
only by physiological research (5) medicine has been able to advance
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans X 1. oddly
X 2.strangely
¥ 3. usually
X 4. incidentally

Question ID : 65497831486
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Life processes are similar in all animals with (1) . So physiologists can find out a lot
about the human body by studying animals (2) frogs, rats and rabbits. Sometimes,
research involves the death of these animals. But, physiologists take great care to not
3) the animals. The animals are (4) put to sleep during the experiments. It is
only by physiological research (5) medicine has been able to advance
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans o 1. that
X 2.then
X 3.than
X 4.s0

Question ID : 65497831487
Status : Not Answered
Chosen Option : --

Section : Part D Hindi

Q1 FfgaNta e W &1 Iga s
Ans o 1. 3fufoud

X 2. wotthe

X 3. wollS e

X 4. 3w

Question ID : 65497831489
Status : Answered
Chosen Option : 1




Q2 figgmuar WY @ INFa@s®d Pyl es $ Pavvsw w4 Paw
FIEEA PRI A Loyl s o smasa a8 e, dfas  Tod@
FEATd Pt ATTAFT Tl 8 BT IYT BT |

TR W FF ATE 5
Ans 1. IERF
X 2. WRF R
X 3. IR H
X 4 Pl geaca ol AgaHaT TR 8 |

Question ID : 65497831499
Status : Answered
Chosen Option : 2

Q3 W= P Yg-Ta-THt
B-Ans X 190

X 2.3

o 3. 14

X 479

Question ID : 65497831505
Status : Answered
Chosen Option : 3

Q4 e M g1 =T ® Pavwew Tfww |
Ans X' 1.3 «Tied

X 2.3¢Yd

o 3.30F d

X 4. 3B

Question ID : 65497831497
Status : Answered
Chosen Option : 3

Q5 IasyFH T faR Pauaew Sugaw sTIwA AT
fg (@1 Pawwsiarg |
Ans 1. SH
X 2.4
X3
X 4. BT

Question ID : 65497831490
Status : Answered
Chosen Option : 1




Q6 AT WM AR F1 Y DA T ot Pawd &1 9+ sif |
Ans X 1. g1 I

X 2.8 9B Q P a9

o 3.TATE AT Hd X

X 4.garw wd s

Question ID : 65497831503
Status : Answered
Chosen Option : 3

Q7 WtgatacTa W &1 99 FATTI
Ans o2 1. 3MholifiaRor

X 2. 3T

X 3. 3fthorfiaor

X 4. 3horfierRa

Question ID : 65497831488
Status : Answered
Chosen Option : 1

Q8 figgmgar AT WITwaEs® Posy-Ruwmea & favasw sw 4 s
FTTEA PN AT Pasy-fud v Pt @asar e g, @ g oo
TEATd BT ATTA DT T8 &’ BT ITT PR |

AT 15 8 ¥ P aa P od R s v 8l

Ans X 1. 4@ OB R ST BRI 7 |

X 2.9 e R ST B B
o 3. P Seaca Bt sMaasar TR 8 |

X 4. @@ PHd R g1 Hexd B

Question ID : 65497831494
Status : Answered
Chosen Option : 3

Q9 figuwual T N oTa R Do ®18 Ty e g1 R FE 1, Tf g AP e d @
faw gl
TR TraTe ST @ i Swet AT R 31
Ans X 1. 2% 3@ AT
o 2. ATHT T ST &
X 3.9\RE
X a8 1ofoead

Question ID : 65497831491
Status : Answered
Chosen Option : 2




Q.10 fyaa ®=IF #1 gfe ¥ forg e Suged e &1 9 #31
o e amwEmE T

Ans 1 7Y

X 2. 3FE

X 3. 3MgIq

X 4. 39

Question ID : 65497831507
Status : Answered

Chosen Option : 2

Q.11 = Ry aren ¥ Rea-wm= 3t ofit & R aed Iuged v o1 997 B30
#R___ @Rl

Ans 1 IPR

X 2.9

X 3. @

X 4. SBR

Question ID : 65497831501
Status : Answered
Chosen Option : 1

Q.12 3T T T/ & o ve v g
i ¥ TS Sierar & -

Ans 1 aguTl

X 2 9|

X 3. 3fequTSt

X 4. Tyt

Question ID : 65497831500
Status : Answered

Chosen Option : 1

Ans X 1. $ugl g ¥ giud ife
2. T o s @ =T ¥

X 3 PR AR
X 4 3@®m gl

FUa Hrtay ¥ giua P & e st Wt & e fRm #1

Q13 %quqmmagmmﬁﬁaﬁﬁﬁaﬁ%mﬁﬁzﬁﬂﬁ%ﬁﬁaﬁﬁ%
I

Question ID : 65497831495
Status : Answered

Chosen Option : 2




Q.14 3w ¢ g ¥ fore v v difvm)
i =afe frelt & SUBR B AT 8
Ans X 1. Pad
2.0
X 3. 7954
X 4. 3pdd

Question ID : 65497831493
Status : Answered
Chosen Option : 2

Q15 <1 T GeTay BT et orf -
Ans o 1 HREI ST

X 2. AT

X 3. U B

X 4. uH fadrn

Question ID : 65497831506
Status : Answered
Chosen Option : 1

Q.16 ﬁqmmﬁi’mﬁﬁwaﬁuﬁwﬁamﬁ%mmmﬁmmmﬁl
Tfe 3R vforenfia 37 &1 sraxasar 78 €, & ey 5t agame 3t smamsar T8 &

BT TG B

ST WA @B A0 U 5 Y 1T

Ans 1 TR HE &I AT

X 2 fodft acaa ot saxawdr T8l g1

X 3. TR U Hg ¥ 317
2 4. TR0 Hg # o T4

Question ID : 65497831498
Status : Answered
Chosen Option : 1

Q17 fog g wreg &1 faei g1
Y
Ans X 1 fgm
X 2. 780
X3
o 4 &

Question ID : 65497831492
Status : Answered
Chosen Option : 3




Q.18 13T 1Y Weg & AT Weg T 707 BY |

Ans

=

X 1. 3@ED
o 2. 3B
X 3.3
X 4 3

Question ID : 65497831496
Status : Answered
Chosen Option : 2

Q19

Ans

fw e v o1 R g3
wifa

o 1. faunfa

X 2 fared

X 3. SF-UgEH

X 4. 99H

Question ID : 65497831502
Status : Answered
Chosen Option : 1

Q20 RAM I F BPu v IR 22

Ans

urg: A SR HE Tee #
< 1. U R

& 2.3f%D
X3gg
X 4. 9w E

Question ID : 65497831504
Status : Answered
Chosen Option : 2

Q.21
Ans

Comprehension:

TR IT e 7 ¥ $9 Weg gl AU T &1 Wafld Uil H YD G & fo el Iugad fadey
B1 4G B

3y 7 (1) el &1 g7 21 S-SR g & (2) G W ¢, AV-dY A
DI IATT 3R GGG T ANT U= g3 ¢ 1 3T BT HHG eRel, BT 3R gL (3) &
3P Tel Y 3aTd 8l Pl ol I (4) @ Id 3R faHr ¥ Yafdd Fd-ad ared
TRgd PR 30 ded I 3fad (5) UeH fbar gl

SubQuestion No : 21
e & e I (1) ¥ g waifte suge o= 8-
X 1. ufefas
2. 39S
X 3. Ufaeifis
X 4. i@

Question ID : 65497831509
Status : Answered
Chosen Option : 2




Comprehension:

T T 7o 7 ¥ $© Weg gel fAU MU 71 Waild Ul H ydd GB & foy Yad Jugdd fadey
BT FH BRI

syF&EgT(1)_ ?%léﬁaﬂﬁaﬁhz) ¥G W@ §, JU-qY AFg
aﬁeﬂﬁmmmmﬁm'g 3Tl BT HHG Rl PR ARFR@B) &
3 W Y AATAI IHISI I (4) & Iwad 3iR [ A Weldd Fdad sarerd

TR Y 30 960 DAl DI I (5) UG [par gl

SubQuestion No : 22

Q.22 TR & e wIF (2) ¥ e waifte sugea weg dm-
Ans o 1. PcH

X 2.Ugq

X 3.9

X 4. %dE

Question ID : 65497831510
Status : Answered
Chosen Option : 1

Comprehension:

U TR & ¥ $9 Uek gel AU MU § 1 Gl vt # vde S & o 9ed 3ugad fadey

PTG DI

syF&EgT(1)_ %‘l%lﬁﬁ@'ﬂﬁ@ﬁﬂi@) 9 % §, dU-99 AFg
Bl A AR YT DT AN UL 3 61 TSl BT A IR, BRI AR YR (3)

P EEAIFARN DI I (4) & I%d 3R [abr U Yaid Tdi-aH e

TR B 30 g IR (G)_ veH fpargl
SubQuestion No : 23
Q.23 TRy ¥ faa =i (3) ¥ e waifte sugea weg @m-
Ans X 1. 3UdHIO[
o 2. 3RE
X 3. giddrd
X 4.3H

Question ID : 65497831511
Status : Answered
Chosen Option : 2

Comprehension:

mm%ma@wsamw%.mmﬁmm%mmmm
BTG

SYRHGI(1)_ IuaEAIBGIGIIRNfEA S (2) 6w, JW-dudFd
B I 3R G 1 ANT YRR G 61 311 I HFE R, MBI ARIR3) &
P CE A ITEEA PRSI @) P Iad 3R AP Y Yald Ta-aw et
TRgd IR 30 ded HIRAG)_ veH fpargl

SubQuestion No : 24
Q.24 e ¥ fa R (4) ¥ forg waifire Suges v dm-
Ans o 1. 981S
X 2. 3%
X 3. 3EHA
X 4.aeg

Question ID : 65497831512
Status : Answered
Chosen Option : 1




Comprehension:

UMY TR 7 U $F Weg gl AU T &1 Wl w7 Ude we & fo el Sugad faded
&1 TG R

ayfFB g (1) Iuaien B g gl S-S fAgH & (2) W E, W AR
DI I 3R GG BT ANT U= §oMT ¢ | 3Tl I HIFd R, 3B 3R Yax (3) &

3wl Y
TRGd DX 3UH ded

Wla;l?%lm@) & Iad 3R AP ¥ gefdd Fd-aq aremd

@I 3fd (5) UeH fpar gl

SubQuestion No : 25
Q.25 e ¥ fYaa v (5) & fore walfie Suged weg dFm-

Ans

1.8
X 2. 3UFY
X 3.Hgd

X 4. 3fPR

Question ID : 65497831513
Status : Answered
Chosen Option : 3
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Section : Part A General Intelligence and Reasoning

Q1 Select the dice that can be formed by folding the given sheet along the lines.

4
512
613
1
1245 1B 4|3
A B g

Ans 1. Only A and C
2. Only A, Cand D
3. Only A
4. Only A and D

Question ID : 65497828605
Status : Answered
Chosen Option : 4

Q.2 In acertain code language, ‘INSPIRE’ is written as ‘JPTTJZF’. How will ‘FORGIVE’ be
written in that language?

Ans X 1.GQTKJEF
X 2.GQRKIDF
«” 3. GQSKJDF
X 4.GQSLIDF

Question ID : 65497828616
Status : Answered
Chosen Option : 3




Q.3  The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

e
s 4
% THE
..... T g m— ]
Ans
[a]
o
X 1.
o
o o
[5) [a]
o o
o 2.
o o]
u] o
[5] [a]
] o
X 3.
o D
o o
(o] o)
o o)
X 4
o o
o o

Question ID : 65497828597
Status : Answered
Chosen Option : 2

Q.4 Select the number from among the given options that can replace the question mark
(?) in the following series.

21, 32,54, 7,131
Ans X 1.72
X 2.95
X 3.66
o 4.87

Question ID : 65497828613
Status : Answered
Chosen Option : 4




Q.5 Select the figure from among the given options that can replace the question mark (?) in the following series.

|+ | *[®
(@] +]o

| x

©
+ |

Ans

Question ID : 65497828614
Status : Answered
Chosen Option : 4

Q.6 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Speed : Speedometer :: Air pressure: ?
Ans X 1.Variometer
X 2. Altimeter
X 3. Hypsometer

«# 4. Barometer

Question ID : 65497828608
Status : Answered
Chosen Option : 4

Q.7 Six friends, P, Q, R, S, T and U are sitting in two rows, three in each. S is not at the end
of any row. T is aneighbour of R. R and U are sitting diagonally opposite to each other.
P is second to the left of U. Who among the following three friends are in the same
row?

Ans X 1.TQU and PRS
" 2.PSU and RTQ
X 3.STU and PRQ
X 4.PTQ and RSU

Question ID : 65497828609
Status : Answered
Chosen Option : 2




Q.8 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

KMQW, HINT, CEIO, ?
Ans X 1.FINT

« 2. ACGM

X 3.0QsY

X 4.IMST

Question ID : 65497828607
Status : Answered
Chosen Option : 2

Q.9 Arunimatold Sahil, “Your brother-in-law’s only sister's son is my grandson.” How is
Sahil related to Arunima?

Ans & 1. Son-in-law
X 2.Uncle
X 3.Son
X 4. Father-in-law

Question ID : 65497828617
Status : Answered
Chosen Option : 3

Q.10 Select the Venn diagram that best represents the relationship between the following classes.

Grain, Beetroot, Kiwi

00
x (@0

Question ID : 65497828610
Status : Answered
Chosen Option : 3

Q.11 In acertain code language, 'RAT' is coded as '39' and 'BEAR' is coded as '26'. How will
'SNAKE' be coded in that language?

Ans 4 1.50
X 2.54
X 3.52
X 4.48

Question ID : 65497828599
Status : Answered
Chosen Option : 1




Q.12 Select the option in which the numbers are related in the same way as are the
numbers in the given set.

(7,308, 11)
Ans X 1.(16, 239, 6)
o 2.(12,324,9)
X 3.(9, 160, 8)
X 4.(8,164,5)

Question ID : 65497828595
Status : Answered
Chosen Option : 2

Q.13 Select the option that is related to the third number in the same way as the second
number is related to the first number.

8:104::16: 7
Ans X 1.300
X 2.335
o 3.336
X 4.320

Question ID : 65497828603
Status : Not Answered
Chosen Option : --

Q.14 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

HKN: KOS:: MPS: ?
Ans X 1.TPX
X 2.PTW
X 3. TPW
o 4.PTX

Question ID : 65497828615
Status : Answered
Chosen Option : 4

Q.15 In acertain code language, 'HORNS' is written as 'SRONH' and 'CRUDE" is written as
'UREDC'. How will 'FACTOR' be written in that language?

Ans X 1. TSOCAE
" 2. TROFCA
X 3.ACFOTR
X 4. TROACF

Question ID : 65497828593
Status : Answered
Chosen Option : 4




Q.16 In an organisation consisting of 214 employees, 120 have participated in Clay
Modelling and 130 have participated in Poster Making, 36 employees have participated
in both Clay Modelling and Poster Making. If each employee has participated in at least
one of the two activities, how many employees participated in Poster Making only?

Ans X 1.80
X 2.90
X 3.84
o 4.94

Question ID : 65497828596
Status : Answered
Chosen Option : 4

Q.17 Select the number from among the given options that can replace the question mark
(?) in the following series.

31, 37,41, 43,7
Ans X 1.51
o 2.47
X 3.45
X 4.49

Question ID : 65497828600
Status : Answered
Chosen Option : 4

Q.18 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Program
2. Problem
3.Proposal
4. Profound
5. Property

Ans X 1.2,1,4,5,3
224,153
X 3.4213,5
X 4.3,2,4,51

Question ID : 65497828611
Status : Answered
Chosen Option : 2

Q.19 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans o 1.HQY
X 2.HQZ
X 3.BKT
X 4.DMV

Question ID : 65497828598
Status : Answered
Chosen Option : 1




Q.20 Select the option in which the given figure is embedded (rotation is NOT allowed).

w

74

x 1

Ans

&2

X 4.

Question ID : 65497828606
Status : Answered
Chosen Option : 2

Q.21 If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’ denotes ‘subtraction’, and ‘D’
denotes ‘division’, then what will be the value of the following expression?

90D (2B5)A4B(12A10)C 4B (17 C 10)
Ans X 1.67

X 2.61

X 3.65

o 4.69

Question ID : 65497828604
Status : Answered
Chosen Option : 4

Q.22 Five friends, A, B, C, D and E, are sitting in a straight line. A and B are adjacent to each
other. B is between A and C. A is 3rd to the left of D. D is 2nd from the right. Who is
sitting 3rd from the left?

Ans X 1.D
X 2A
o 3.C
X 4E

Question ID : 65497828602
Status : Answered
Chosen Option : 3




Q.23 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

1. No girl is a musician.

2. No musician is ateacher.
3. All stars are musicians.

Conclusions:
I. No star is a girl.
Il. No star is ateacher.

Ans ¢ 1. Both the conclusions follow
< 2. Only conclusion Il follows
< 3. 0Only conclusion | follows

< 4. None of the conclusions follow

Question ID : 65497828594
Status : Answered
Chosen Option : 1

Q.24 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

Z__UM_AF_M_A__M
Ans X 1. FDPZMUF

o 2. AFZUZFU

X 3.DZFUMZA

X 4.UADZMFZ

Question ID : 65497828612
Status : Answered
Chosen Option : 2




Q.25 Select the correct mirror image of the given figure when the mirror is placed at 'AB' as shown.

A
BC D>
O X @
> & [
B
Ans ’.D
X110 X @
oD
4 <3N
X2 @ X O
09 <
< < n
73 1@ X O
1 A «
0O e A
X4 |dx N
A Om

Question ID : 65497828601
Status : Answered
Chosen Option : 3

Section : Part B General Knolwedge and General Awareness

Q.1 Curd and vinegar taste sour because they contain
Ans X 1.chemicals

" 2. acids
X 3. proteins

X 4. yeast

Question ID : 65497828633
Status : Answered
Chosen Option : 2

Q.2 Who among the following is credited with being the 'Pioneer of Rocket Technology' in
India?

Ans X 1.Lord Cornwallis
X 2.Babar
< 3. Akbar I
" 4. Tipu Sultan

Question ID : 65497828638
Status : Answered
Chosen Option : 1




Q.3 Which of the following is the largest west flowing river in Peninsular India?
Ans X 1.Krishna

X 2. Kaveri
" 3. Narmada
X 4. Godavari

Question ID : 65497828618
Status : Not Answered
Chosen Option : --

Q.4 Who inaugurated 'Destination North East 2020', to showcase the region’s culture,
tourism and heritage?

Ans X 1. Union Minister for Tourism and Culture, Prahlad Singh Patel
< 2. Union Minister for Tourism, Dr Jitendra Singh
X 3.The Prime Minister, Narendra Modi

" 4. Union Home Minister, Amit Shah

Question ID : 65497828635
Status : Not Answered
Chosen Option : --

Q.5 Chhath Puja, the famous traditional festival of Indiais dedicated to which of the
following Gods?

Ans X 1. Moon
X 2. Lord Brahma

& 3.Sun
X 4. Lord Shiva

Question ID : 65497828621
Status : Answered
Chosen Option : 3

Q.6 Who among the following won the Nitto Men’s ATP Tour Finals in 20207
Ans X 1. Dominic Thiem

X 2. Novak Djokovic
«" 3. Daniil Medvedev
X 4. Andrey Rublev

Question ID : 65497828626
Status : Not Answered
Chosen Option : --

Q.7 Which Amendment enabled 27% reservation for OBC in government and private
educational institutes in 2006?

Ans o 1.93rd
X 2.77th
X 3.86th
X 4.92nd

Question ID : 65497828631
Status : Answered
Chosen Option : 4




Q.8 In which state was the Forest Martyrs' Memorial inaugurated in November 2020?
Ans X 1. Karnataka

< 2. Tamil Nadu
X 3. Maharashtra
¥ 4. Andhra Pradesh

Question ID : 65497828642
Status : Not Answered
Chosen Option : --

Q.9 Who among the following Indian actors has been appointed as the state icon of Punjab
by the Election Commission of India?

Ans X 1. Amitabh Bachchan
" 2. Sonu Sood
X 3. Salman Khan
X 4. Akshay Kumar

Question ID : 65497828624
Status : Answered
Chosen Option : 2

Q.10 Which of the following states has the highest life expectancy at birth?
Ans o 1. Kerala

X 2.Goa
X 3.Haryana
< 4. Tamil Nadu

Question ID : 65497828619
Status : Answered
Chosen Option : 1

Q.11 When was the All India Tennis Association (AITA) established in India?
Ans X 1.1912

X 2.1934
X 3.1956
o 4.1920

Question ID : 65497828625
Status : Answered
Chosen Option : 2

Q.12 Who is the author of the book ‘Lessons Life Taught Me, Unknowingly’?
Ans X 1. Shilpa Shetty

" 2. Anupam Kher
X 3. Twinkle Khanna
X 4. Javed Akhtar

Question ID : 65497828630
Status : Answered
Chosen Option : 2




Q.13 GDP can be expressed in two different ways, nominal GDP and
Ans X 1.domestic GDP

" 2.real GDP
X 3.symbolic GDP
X 4. calculated GDP

Question ID : 65497828636
Status : Answered
Chosen Option : 2

Q.14 , built by the Mughal Emperor Shah Jahan in the 17th century, was the main
residence of the Mughal Emperors for nearly 200 years.

Ans X 1. Tughlagabad Fort, Delhi
X 2. Siri Fort, Delhi
" 3. Red Fort, Delhi
X 4. Salimgarh Fort, Delhi

Question ID : 65497828634
Status : Answered
Chosen Option : 3

Q.15 Queen Victoria's Proclamation declared that thereafter India would be governed by
and in the name of the British Monarch through a Secretary of State on:

Ans X 1.27 October, 1858
" 2.1 November, 1858
X 3.12 August, 1858
X 4.16 September, 1860

Question ID : 65497828620
Status : Answered
Chosen Option : 1

Q.16 Kabini is an important tributary of theriver:
Ans  # 1. Cauvery

X 2.Krishna
X 3. Mahi
X 4. Godavari

Question ID : 65497828637
Status : Answered
Chosen Option : 3

Q.17 In which part of Article 44 of the Constitution of India is the provision for uniform civil
code for the citizens contained?

Ans X 1.Partlll
X 2. Part VI
& 3. PartIvV
X 4. Partll

Question ID : 65497828640
Status : Answered
Chosen Option : 3




Q.18 Who was appointed as the first Chairperson of the Reserve Bank Innovation Hub in
November 2020?

Ans o 1. Senapathy (Kris) Gopalakrishnan
< 2. TN Manoharan
X 3. Rajiv Kumar
& 4.Narayan Murthy

Question ID : 65497828622
Status : Not Answered
Chosen Option : --

Q.19 Which of the following is NOT a cold-blooded animal?
Ans o 1. Rabbit

X 2.Shark
X 3. Crocodile
X 4.Frog
Question ID : 65497828628
Status : Answered
Chosen Option : 1
Q.20 The smallest and longest bones in the human body are and

respectively.
Ans X 1.stapes, fibula

X 2. tibia, femur
" 3. stapes, femur
X 4. nails, fibula

Question ID : 65497828629
Status : Answered
Chosen Option : 3

Q.21 Who among the following cricketers was the winner of ‘lCC ODI Cricketer of the Year
Award 2020°?

Ans X 1.Mahendra Singh Dhoni
< 2. Virat Kohli
< 3.Jasprit Bumrah
%" 4. Rohit Sharma

Question ID : 65497828641
Status : Answered
Chosen Option : 2

Q.22 Which of the following lakes of India has NOT been added to the Ramsar Sites?
Ans X 1. Chilka Lake

X 2.Keetham Lake
X 3. Loktak Lake
" 4. Dal Lake

Question ID : 65497828623
Status : Answered
Chosen Option : 2




Q.23 The Buddhist Vihara at Sanchi is also known as ‘Great Stupa’. It is one of the most
famous Buddhist monuments in India, located at Sanchi town in district.

Ans X 1.Jabalpur
& 2. Raisen
X 3.Purnia
X 4.Patna

Question ID : 65497828627
Status : Not Answered
Chosen Option : --

Q.24 Which of the following countries performed its first robotic docking in lunar orbit?
Ans X 1.Russia

" 2.China
X 3.India
X 4.Japan

Question ID : 65497828632
Status : Not Answered
Chosen Option : --

Q.25 Which of the following books was written by Banabhatta?
Ans X 1. Ashtadhyayi

< 2. Akbarnama
" 3. Harshacharita

X 4. Malavikagnimitram

Question ID : 65497828639
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics

Q1 The average of the first five multiples of 13 is:
Ans X1 13

&2 39

X3 65

X4 26

Question ID : 65497828651
Status : Answered
Chosen Option : 2




Q.2 The compound interest compounded annually on a sum of money for 2 years is ¥1,128.6 and the simple interest on the
same sum for the same period is T1,080. What is the difference between the compound interest compounded annually
and the simple interest for 3 years?

Ans 1. %165.174
2. 3170.174
3. T150.174
Z160.174

P

Question ID : 65497828663

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.3 Two trains of lengths 120 m and 180 m are travelling in opposite directions at the uniform speed of 34 km/h and 32
km/h. The time taken by the two trains to pass each other is:

Ans o 1. 180/11 sec
X2 17 sec
X3 15.5sec
X 4 16 sec
Question ID : 65497828659

Status : Answered
Chosen Option : 1

Q.4 Aperson purchased a machine for ¥50.000 and fixed the marked price 20% higher than the cost price and sold it at a
discount of 15%. The percentage profit or loss is:

Ans X1 1% loss
2. 2.5% profit
X 3. 4% loss
4. 2% profit
Question ID : 65497828656

Status : Answered
Chosen Option : 4

Q5 IfP=ax b® X c'!,Q=2a® x b° X ¢®,R=a'® X ¢%, then what is the HCF of P, Qand R?
Ans 1. as X CS
2. a15 % b9 % c23
X3 axc
4. q26 x p1* x 39
Question ID : 65497828643

Status : Answered
Chosen Option : 1




Q.6 A sum fetched a total simple interest of 5.427 at the rate of 9% p.a. in 6 years. What is the sum?
Ans - 1.354,010
2. 10,050
3. 10,002
4. 354,270
Question ID : 65497828653

Status : Answered
Chosen Option : 2

Q.7 A’s income is 25% more than that of B. B’s income is less than A’s income in percentage of:
Ans X1 15%
2. 20%
X3 11%
X4 18%
Question ID : 65497828657

Status : Answered
Chosen Option : 2

Q.8 13,540 is to be divided between Kamal and Sunita such that Kamal's share at the end of 5 years may be equal to
Sunita's share at the end of 7 years. If the rate of interest is 8% per annum compounded annually, then Kamal’s share is:

Ans 137,280
2. 7,290
3. 78,240
4. 37,390

Question ID : 65497828647
Status : Not Answered

Chosen Option : --
o9 Thevalueof% °f§_§ of§+4+ 7+30f7+2is:
A
ns L 1124
105
X2 1024
105
X3 1104
105
. 1224
105

Question ID : 65497828660
Status : Answered
Chosen Option : 1




Q.10 The perimeter of a square is 64 cm . The area of a rectangle is 16 cm? less than the area of the square. If the length of

the rectangle is 20 cm, what is the perimeter of the rectangle?

Ans X1 12 cm
X2 15cm
X3 18 cm
4. 64 cm

Question ID : 65497828664
Status : Answered
Chosen Option : 4

Q11 Thevalueof2X7 +~140f4—5+4x(9—11)+2—2%x6 +8of3, is:

Ans 1
X1 3E

1

&2 42-

1)

X 3. 2i

3

X 4. 4_Z

Question ID : 65497828665

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.12 What is the greatest number which leaves the same remainder in each case, when divides 265, 580 and 825?

AnS 135
X2 55
X3 25
X 4. 45

Question ID : 65497828650

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.13 Adriver drives a car at a uniform speed of 60 kmvh and reaches the 330 km destination by 30 min late. To reach on time,
the % increase in speed will be:

Ans X1 15%
<2 10%
X3 12%
X 4. 20%

Question ID : 65497828658
Status : Answered
Chosen Option : 2




Q.14 A train moves at a speed of 70 knmv/h for 5 hours and stops at station *A’. From station *A’, the train moves to station ‘B’
at a speed of 66 knv/h for 3 hours. What is the total distance covered by the train?

Ans X1 520 km

¥ 2 548 km

A3.500 km

X 4480 km
Question ID : 65497828661

Status : Answered
Chosen Option : 2

Q.15 Two-third of the loss of A is equal to five-seventh of the profit of B. If the loss of A is ¥2,460, then how much (correct to
2 decimal places) percentage of the profit of B is the loss of A?

Ans X1 107.27%
+ 2. 107.14%
X 3. 93.67%
X 4. 93.33%

Question ID : 65497828644
Status : Answered
Chosen Option : 4

Q16 1f0.45: x ::3:8, then x is equal to:
Ans X1 1.3

2 12

X314

x4 22

Question ID : 65497828648
Status : Answered
Chosen Option : 2

Q.17 There are three numbers such that the first number is 3 times the second number and the second number is half of the
third number. Their average is 60. The third number is:

Ans X1 120
« 2. 60
X3 30
X490

Question ID : 65497828655
Status : Answered
Chosen Option : 2




Q.18 Acan complete% of a certain work in 9 days and B can complete 80% of the same work in 16 days. Both work together
for 5 days. C alone completes the remaining work in 6% days. A and C together will complete the whole work in:

Ans

1. 9 days
2. 10 days
3. 8 days
4. 6 days
Question ID : 65497828667

Status : Answered
Chosen Option : 3

Q.19 A person purchased a refrigerator for T18,000. After two years, he spent 2,500 on its repair and sold it for ¥12,300. The
percentage loss is:

ANs X1 42%
X 2. 46%
&3 40%
X 4. 44%

Question ID : 65497828654
Status : Answered
Chosen Option : 3

Q20 4 pond is 50 m long, 25 m wide and 4 m deep. Find the capacity of the pond (in m’).
Ans X1 4000

X 2. 500

« 3. 5000

X 4. 2500

Question ID : 65497828649
Status : Answered
Chosen Option : 3

Q.21 Aboy who is 7 feet tall can cast a shadow that is 21 feet long on the ground. How tall (in feet) is a man who can cast a
shadow that is 15 feet long?

AN X165
X255
X3 6
VIR

Question ID : 65497828652
Status : Answered
Chosen Option : 4




Q.22 The difference between the selling prices of an article sold at a discount of 14%% and 10%% is 48. If the marked price
is 25% more than the cost price, then the cost price of the article is:

Ans 1. Z860
2. 3950
3. 3920
4. 3960

Question ID : 65497828645
Status : Answered
Chosen Option : 4

Q.23 By selling an article for T340, a trader loses 20%. To gain 15%, he must sell it for:
Ans 1.3488.75

2. T475.50

3. 3455.75

4. 3517.50

Question ID : 65497828666
Status : Answered
Chosen Option : 1

Q.24 Some articles are sold in such a way that the cost price of 60% of the articles is equal to the selling price of 40% of the
articles. The profit percentage is:

Ans X1 35
<2 40
X3 45
« 4. 50

Question ID : 65497828646
Status : Answered
Chosen Option : 4

Q.25 Rohith and Manoj together have 1,320. If g of Rohith’s amount equals to ; of Manoj’s amount, how much amount
does Rohith have?

Ans 1. %320
2. 3328
3. 3792
4. 3980
Question ID : 65497828662

Status : Not Answered
Chosen Option : --

Section : Part D English



Q.1 Select the most appropriate ANTONYM of the given word.
Monumental
Ans X 1. Mysterious
" 2. Insignificant
X 3. Important
X 4. Enormous

Question ID : 65497828678
Status : Answered
Chosen Option : 4

Q.2 Select the option that can be used as aone-word substitute for the given group of
words.

A large cage, building or enclosure for keeping birds in
Ans o 1. Aviary
X 2. Apiary
X 3. Asylum
X 4. Aquarium

Question ID : 65497828674
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate option to fill in the blank.
The police later that one of the thieves had been arrested.
Ans X 1.abandoned
" 2. confirmed
< 3. commenced

X 4. analysed

Question ID : 65497828671
Status : Answered
Chosen Option : 2

Q.4 Select the option that can be used as aone-word substitute for the given group of
words.

A system of society or government in which men hold the power and women are
largely excluded from it

Ans X 1. Matriarchy
X 2. Masculinity
X 3. Patrilineal
" 4. Patriarchy

Question ID : 65497828681
Status : Answered
Chosen Option : 4




Q.5 Selectthe INCORRECTLY spelt word.
Ans X 1. Nineteen

«" 2. Neutrelise
< 3.Noun

X 4. Nationalise

Question ID : 65497828682
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate meaning of the given idiom.
In the long run
Ans X 1.Immediately
X 2. Occasionally
& 3. Ultimately

X 4.Regularly

Question ID : 65497828670
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate option to fill in the blank.
There are various legends associated with the of the state of Kerala.
Ans X 1.source
X 2.basis
X 3.root
" 4. origin

Question ID : 65497828676
Status : Not Answered
Chosen Option : --

Q.8 Select the most appropriate SYNONYM of the given word.
Lure
Ans X 1.Attack
X 2. Amend
& 3. Attract
X 4. Arise

Question ID : 65497828686
Status : Answered
Chosen Option : 3




Q.9 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

Educational institutions have been notify to open from 17th November for higher
semester students who are engaged in research.

Ans X 1.open from
X 2. are engaged
" 3. have been notify

X 4. for higher semester students

Question ID : 65497828679
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

| started early from office, lest | should not get caught in the rain.
Ans X 1.lest | will not get caught

X 2. lestthat | get caught
< 3. No substitution required’
" 4. lest | should get caught

Question ID : 65497828684
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option to fill in the blank.
My classmate is of my achievement.
Ans o 1. jealous
< 2. bitter
X 3.zealous

X 4.sad

Question ID : 65497828677
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate synonym of the given word.
Desert
Ans X 1.Help
X 2. Support
¥ 3. Abandon

X 4. Stay
Question ID : 65497828669

Status : Answered
Chosen Option : 3




Q.13 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

He want /to have / some morerrice.
Ans o 1. He want
X 2. No error
X 3.to have

X 4.some more rice

Question ID : 65497828668
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

I am living in this city for several years but have never experienced any discrimination.
Ans X 1. had lived
< 2. No substitution required’
X 3. was lived
" 4. have lived

Question ID : 65497828683
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate ANTONYM of the given word.
Tropical
Ans 4 1.Cold
< 2.Lush
X 3.Equatorial

X 4. Sultry
Question ID : 65497828680

Status : Answered
Chosen Option : 1

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Fitto be eaten
Ans X 1. Tasty
X 2.Delicious
X 3.Potable
o« 4. Edible

Question ID : 65497828687
Status : Answered
Chosen Option : 4




Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He has been talking / since two hours / and is still / not tired.
Ans X 1. He has been ta king
¥ 2. since two hours
X 3. not tired
X 4. andis still

Question ID : 65497828685
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate meaning of the given idiom.
Monkey business
Ans X 1. Dealing in the supply of monkeys
X 2. Actions that imitate other animals
X 3. Carrying out business related to monkeys

«" 4. Behaviour that is not acceptable or is dishonest

Question ID : 65497828673
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate option that can substitute the underlined word in the
given sentence.

In India, there are not enough job employability.
Ans X 1.invincibility
X 2. productivities
X 3. profitability

" 4. opportunities

Question ID : 65497828672
Status : Answered
Chosen Option : 4

Q.20 Selectthe INCORRECTLY spelt word.
Ans X 1.Exclaim

X 2.Express
& 3. Comunity

X 4. Array

Question ID : 65497828675
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)

of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles

(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1. more

X 2. many
X 3. maximum

«” 4. most

Question ID : 65497828689
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)

of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles

(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans X 1.then
< 2. there
¥ 3. than

X 4. that

Question ID : 65497828690
Status : Answered
Chosen Option : 3

|
Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)

of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles

(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3
Ans X 1. Specific

o 2. The
X 3.Few
X 4.Such

Question ID : 65497828691
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)

of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles

(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans o 1. are

X 2.had been
X 3.were
X 4.have been

Question ID : 65497828692
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)

of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles

(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1.this

X 2.that
¥ 3. them
X 4. whom

Question ID : 65497828693
Status : Answered
Chosen Option : 3

Section : Part D Hindi

Ql A g ar ¥ YASY MW @ Pauasw Suu,4  STId
A B IMg 3t & W1 3TaTet 3 T A
Ans o 1. 993
X 2%
X 3. R
X 4.3%A
Question ID : 65497828708

Status : Not Answered
Chosen Option : --




Q.2 fIem weg! & et g BT 999 e
Ans X 1.W0-

X 2R -¢E

X 3.7 He U - 3FHY

4. 3ie - 3

Question ID : 65497828711
Status : Not Answered
Chosen Option : -

BT BN

¢ T W gufe TE g 31

Ans X 1.39% HRU

2. difs

X 3.8

X 4. Todi 9gamE @1 siaxadmd T8l 8

Q3 ﬁqnqamﬁimﬁmmaﬁuﬁwrﬁawﬁ%ﬁqmﬁmﬁmmmﬁl
Tfe 3R vferenfia o33 &1 siavgsar 78 &, & R 5t agae 3t sragsar T8 &

Question ID : 65497828696
Status : Not Answered

Chosen Option : —

FWtamEA__ AT
Ans X 1 TEFS
& 2 @
X 3.Wewe
X 4.7g98

Q4 faa RIF WA F Y 9a¥ Suge g T 999 P-

Question ID : 65497828698
Status : Not Answered
Chosen Option : -

sufta# rar i g en
Ans 1SSl
X 2 feEt
X 3.8%
X 4. iadl

Q5 33 7 qren ¥ e o F ufawnfia $3 & o gead Suged e o1 9gq3 Y1

Question ID : 65497828709
Status : Not Answered
Chosen Option : -




Q.6 3T g v & wAFAT Weg T T BY |
qur
Ans X 1.3
« 2. 0N
X 3.aR
X 4. @A

Question ID : 65497828700
Status : Not Answered
Chosen Option : —

Q7 HA1E-HMH $i fet Byaran
W UYE & WM W U@ Ve ffae-
Ans X 1 %l
X 2. 9%®
X 3oy
4. b

Question ID : 65497828713
Status : Not Answered
Chosen Option : —

Q8 g aren ¥ Yariea @ & ufawnfia $33 & e aed suge Rea s g 3
Tfe 3 wfornfia 37 &1 siraxa®ar 18 €, df ey bt agae i smagsar T8 &

BT B
41t I a1E 3 I die I
Ans X 1 f&dl geard 1 faxgddl el ol
X 2.9 9t e o
2 3.4 @i 3/ amuy
& 4.3 ol

Question ID : 65497828705
Status : Not Answered
Chosen Option : —

Q9 gmmwnmmﬁﬁaﬁﬂézﬁ%mﬁﬁaﬁﬂﬁ%ﬁﬁﬁ“ﬂ%
I

T feaa 3 We B (1) A6 a1aw, 9 7R SR A (2) 3@ @ & 3y FE R

L)
Ans 1.3
X 24
X 3.1
X 4.2

Question ID : 65497828703
Status : Not Answered
Chosen Option : —




Q.10 3 | U 79 IS - YEIihd eg B Ffe TRIIT-
Ans X 1 fpur fagiy & dRUI

2. G4 & SR
X 3. 3= & SR
X 4 G D BRI

Question ID : 65497828710
Status : Not Answered
Chosen Option : —

QM B9 UGS SUPIY - 1 & g o v #:
Ans 1 fAfiay

X 2. Udd

X 3 Ay

X 47y

Question ID : 65497828712
Status : Not Answered
Chosen Option : —

Q.12 g ¢ wreg &1 el -
e
Ans X 1. ¥d
& 2.3U
X3
X 4. 3faqd

Question ID : 65497828706
Status : Not Answered
Chosen Option : —

Q13 %qnqamaﬂa‘t URT e Y o o R {1 R P R T R, A e R @ Y
I

1 & Frafar & dvar (1) e o1 wror gty 3 (2)) 3@ R ver e o) e
TR (@)

Ans X 1.4
X 21
3.2
X 43

Question ID : 65497828699
Status : Not Answered
Chosen Option : —

Q.14 RrHat Sig T YR BT UaT - € 5 a1 & e e arde weg S
Ans X 1. 3T

X 2. fm

X 3.fnig

o 4. Fda

Question ID : 65497828694
Status : Not Answered
Chosen Option : —




Q.15 R e 9r R § A, 39 R o1 907 3, St 19 Ry geray 1 orf srga sear 21

Yy waa
Ans X | TGN T HA
X 2.3 DI
X 3. Ui TN
4. UK DI
Question ID : 65497828707
Status : Not Answered
Chosen Option : —
Q.16 W gt 9T Weg BT 99 BY |
Ans X 1. 3B0@
X 2. Ruaifors
3 el
X 4. YafF®
Question ID : 65497828702
Status : Not Answered
Chosen Option : —
Q.17 | gt a1 W BT T DY
Ans 1 3RUg
X 2 aRug
X 3.3
X 4. 3=
Question ID : 65497828701
Status : Not Answered
Chosen Option : —
Q.18 f¥ad RIF &1 WA & oY e Suge A 31 79 Il
gt &1 Mgl
Ans X 1. @W®U
X 2. &wa
X 3.¥g
o 4. HTHR
Question ID : 65497828695
Status : Not Answered
Chosen Option : -
Q.19 HHR FEIT FeTay BT oY TART-
Ans 1 TEREA
p P RAA|
2 3. BIel gRAl
X 4 WERIGA
Question ID : 65497828697
Status : Not Answered

Chosen Option :




Q.20

Ans

g 7 Wz & waET W BT AT BN
S|

X 1. 3yd

X 2. agu

X 3. 3rciifhd

& 4Gl

Question ID : 65497828704
Status : Not Answered
Chosen Option : -

Q.21
Ans

Comprehension:

Fafafad T o uga) Ukl & Ifad I difere-

U BTet # AR &1 R dgd 81 Hedyul Ul Tl del Sl & 1o “Sel K1 &1 ol sldl &, dal
<qdl (AR HRd " AHGIC G Y AR & U e 8l T[T A Bi QR a1 Jard 541 o el
TR A & Be 8l T3 1 194 T T IS IHHER I, Wi faddre, caFe TRl eife
HEIHIA! Ud AT YURD! & YRl U ART Siaal ¥ el sl 151 S¥YU] drgee gl /i1 ARt
T & 0 TR FARGR iR St TR, 3111 B AR A S Y AdhR 3faR dd SHUHT heoll STHI g
TR AR T U F < Ul B, Y B YHaRUd TaH & o Igad e 91ty af €1 uRaR gE ¥
Sffar 81 Rifga 78 URaR @1 SRS 81 UdS TR F AR T GHHE g1 et a § vaferd
Ul Bl X B H I Bl U GuR BT Ygdivht &1 difeu| ARI BT SGR o HI S&R gl
3id I DI Y&d Y o1 gy

SubQuestion No : 21
STHTR- -1 Mg YETPd Weg BT 041G 781 22
X 174
X 2.7 H
X 3. 9 R
o 4. 3a

Question ID : 65497828715
Status : Not Answered
Chosen Option : -

Comprehension:

Fafafad T o uger Ul & Ifad IR -

U BId # TRI & R 9gd &1 Hedyqul UT| THT &gl Siidl & 1 “SIgi A1 &1 Gol gidl ©, dal
<qdl Far BRd g HEdICE G ¥ AR &1 Y- % o 11 - S Rt a1 A 71 S
TR R T € e 8l 151 1931 TSt H ol IR W™, Wi fadae, e It e
HEIHIG! Ud S YURD! & YRl U ART Siaal 3§ ol sl 15| S0l drgee gl 11 ARt
T & Uy WR FRaR 311 gt TR, 3 $1 A8 3 S U AR 3R d U Heoll STHIT g
TR R TR U F < ufed §, WY o Youayd IaM & foT Iga e 91fet, ol €1 uRaR gE ¥
Sfar 31 Riféa At uRaR @ ISRS 71 Ud® R F AR & G g1 91t Ya § yaferd
P Bl QX T T GHI DI U GUR BT YgalTht &1 Fifet] TR T 3SR o BT SR 3
Sid I Bl U&d G &1 gt

SubQuestion No : 22

Q.22 3ar ¥@Ied Vg $I [A6H F413T1

Ans

X 1.9%
X 2.qrdt
X 3.gdd

o 4. Tl

Question ID : 65497828716
Status : Not Answered
Chosen Option : -




Comprehension:

Fafafad T & uga) Ul & Ifad IR -

U &Tat # TR &1 R §gd &1 Heayul AT BT &gl Sl & 1o “Wel -IRI &1 Goll eldl &, dal
gl (AR Hd & AHGTC U Y AR B U e 8l T[T - I Gt a1 A 71 S Rl
I R € B 8l T3 1 1941 TSl H IS I I, Wi [dddHg, GG SR sife

Tq S QYRS! & Uaral § AR Saal § gaar §-dt T3 | Gl srmde g it ARt
T & Ty IR FARGR 31 a6t T, 3 @t A 3 S & AR SR A SHUAT desll SR 31
TR AR TR U & < ufed B, Y o Youayd IaM & fol Igad T 91, f €1 uRaR gE ¥
oftar 31 Riféra At uRaR @ ISR 81 Ud® TR H AR & I g1 difet| 99 § yEfcrd
DA DI G B A QI DI T GUR B YgaRll &1 MUl AR BT SER o ST ISR 2
3id Il Bl Yed Y o1 iy

SubQuestion No : 23

Q.23 TF gE I T e | faa w3 gfd Fforg

Ans X 1. ggnft

2 Feart

X 3. 9e™

X 4. sragant

Question ID : 65497828717
Status : Not Answered
Chosen Option : -

Comprehension:
Fafafaa T & ued: uHl & 3fad Sw v

U &Il # -] &1 R 9gd 81 Hedyqul UT| THT &gl SIfdl 8 1 “SIgi A1 &1 Gol gldl ©, ol
<l (AR Hd & TSI G Y AR B U e 8l T[T A8 i it a1 Jard JH1 SF el
T R A & e 8l TS 1 199 TSt T IS IHHER I, Wi fadee, qaFe TRl eife
HEIHIG! Ud TS YURDI o YRl U ART Siacl 3 ol sl 151 S0 drgae gl 11 IRt
WA & 9 TR FARGR SR St R, 3111 B AR A S U AdhR 3faR dd YT Heoll AT o
R SR T U P < Ul §, 7Y B YoudRyd IaM & T o e 91y, Al 8 uRaR gE ¥
Sitar 81 Riféd TR} uRaR & SRS &1 Td® W H ARI &1 S g1 dlfet | FHS § Jferd
A B QX T H Gl DI U GuR BT YgaiTht &1 difet| K] T 3SR o BT SR gl
3id I DI Yed Y o1 Aifgu|

SubQuestion No : 24
Q.24 wogsTe g & TR 9 Rufa @ e
Ans 1 il
X 2. o ot
X 3. Rufgra ot

X 4 Hg@uU RIE T

Question ID : 65497828718
Status : Not Answered
Chosen Option : -




Q.25
Ans

Comprehension:

FafRad T o g us & 3fd IR Ao

U &Tat # TR} &1 RIF §gd &1 Heayu! Ul BT del Sl & 1o “Sel K1 &1 goll eidl &, dgl
<l Far Hd 7 HESIEH I Y AR S U Y3 ol 11 - I GrRi a1 I /=1 SH
IR IR € Be 8l T3 1 194 TSl H IS IR 39, W [dddTg, GaHe TRt sife

T4 S QYRS! & UarGl @ AR Siaan ¥ gaar et 131 9ol srde g wit At
Tl & Ty TR FAReR ST Fedl T, 31 @I AR A SHH U AR S{aR dd 31U desll SHAT 8l
TR AR TR Y & < ufed B, 7Y ol YouafRyd Ia & T Ugad e 9y, a €1 uRaR gE &
Sfar 31 Riféa At uRaR @ SRS 81 Ud® R # AR B M g1 9ot | 9U § vEferd
PN B R B A Gl DI TP GO BT Ygahil &1 AT AR BT ISR o 3T ISR &
3id A DI Yed G o1 Ifeu|

SubQuestion No : 25
e %1 e Wl TargT)
X 1.9 7 g &1
X 2. TR G &1 HRd
o 3. AR g ARER
X 4. GRa T

Question ID : 65497828719
Status : Not Answered
Chosen Option : -




